Svenska Bridgeférbundet
Simultantavling Oktobersilver 2010-10-28

Partavling, 69 bord, 134 par. Antal brickor: 24. Medel: 1535.7.

Frirond (*) ger egen procent.

Plac

Par

F18
A3
H14
G14
D5
B2
110
114
D4
G21
El
F15
E7
11
G6
F7

Poang

2025.0
2008.0
1988.0
1986.5
1965.0
1937.1
1929.0
1925.0
1920.0
1906.9
1904.0
1898.0
1890.0
1881.0
1873.0
1868.0
1849.0
1841.0
1824.0
1812.0
1804.4
1797.0
1790.2
1771.0
1757.0
1754.0
1753.1
1747.0
1735.0
1731.0
1729.0
1720.4
1713.8
1712.0
1703.0
1701.0
1687.6
1683.0
1682.0
1676.0
1672.4
1671.0
1668.0
1650.0
1644.0
1643.0
1639.0
1628.0
1623.0
1614.0
1613.7
1609.1
1609.0
1605.0
1604.0
1601.0
1598.9
1594.9
1592.0
1585.1
1573.0
1567.6
1566.5
1563.4
1559.0
1558.0
1554.0
1552.0
1546.0
1540.0
1532.0
1531.0
1520.0
1519.0
1516.6
1511.0
1510.9
1494.9
1494.0
1482.3
1481.1
1477.0
1472.0
1452.0
1451.0

%

65.92
65.36
64.71
64.67
63.96
63.06
62.79
62.66
62.50
62.07
61.98
61.78
61.52
61.23
60.97
60.81
60.19
59.93
59.38
58.98
58.74
58.50
58.27
57.65
57.19
57.10
57.07
56.87
56.48
56.35
56.28
56.00
55.79
55.73
55.44
55.37
54.94
54.79
54.75
54.56
54.44
54.39
54.30
53.71
53.52
53.48
53.35
52.99
52.83
52.54
52.53
52.38
52.38
52.25
52.21
52.12
52.05
51.92
51.82
51.60
51.20
51.03
50.99
50.89
50.75
50.72
50.59
50.52
50.33
50.13
49.87
49.84
49.48
49.45
49.37
49.19
49.18
48.66
48.63
48.25
48.21
48.08
47.92
47.27
47.23

Namn

Kent Maltein - Erik Gulliksson

Micke Melander - Magnus Melander
Lars Jarl - Christer Sandberg

Jonas Léding - Magnus Strom

Marie Svensson - Hakan Svensson
Conny Svensson - Sten Andersson
Curt Engvall - Ingvar Hogberg

Goran Olsson - Sonny Olsson

Leif Linder - Roger Ahlbom

Krister Collberg - Sven-Erik-Albert Andersson
Lena Westman - Péther Ekman
Stefan Vestlund - Lennart Persson
Johan Séafsten - Marito Karlsson
Bengt Eriksson - Birgitta Carlson
Tony Hedstrom - Eva Olsson

Jan Englund - Malte Persson
Margareta Olsson - Sven Olsson
Tommy Hagstrom - Anders Blomqvist
Heinz-Gunter Stromer - Osten Danielsson
Gunnar Sundstedt - Roger Haker

UIf Henriksson - Bengt Larsson
Roger Rundkvist - Thomas Winther
Tommy Olsson - Géran Elg

Ann Axell - Lars Andersson

Ewa Bjorling - Erik Lindqvist

Sture Pritz - Sonny Séderberg
Jimmy Johansson - Lennart Johansson
Waldo Whiteman - Stig Karlsson
Gullan Persson - Birger Jacobsson
Gert Engberg - Eva Stenborg

Hans Hoglund - Margit Hoglund
Lennart Bylund - Kent Sjoberg
Thomas Johnsson - Kent Backstrém
Karl-Olov Dalquist - Bérje Vestesson
Olle Agren - Osten Andersson
Birgitta Radberg - Kenneth Hedman
Magnus Milby - Inga Andersson

Eric Boberg - Ake Larsson

Bengt Sjoberg - Sture Jansson
Lennart Reiz - Eva Reiz

Jim Thorngren - Katarina Billefjord Thorngren
Birgitta Andersson - Stefan Fransén
Tom Rosén - Anne-Marie Wikstrom
Bibbi Sundling - Gosta Eriksson
Mattias Lindgren - Joakim Nordlindh
Kjell Rosengvist - Kjell Andersson
Ingvar Hultén - Rolf Harrysson

Jan Hamberg - Malin Helin

Daniel Eriksson - Kjell Holmgren
Bertil Berglund - Mats Hillstrom

Rut Nilsson - Staffan Sagrelius
Kristian Karlsson - Carina Sjéblom
Elisabeth Ullstrom - Karin Karnebro
Goran Fredriksson - Roland Karlsson

Hans Overgaard Petersen - Berit Calissendorff

Paul-Bertil Persson - Tor Helenius
Elsie Robertsson - Gunilla Svensson
Laila Naslund - Inger Bystrém

Percy Adelgren - Bill Axblom

Egon Bohman - Sven-Olov Hellgvist
Heikki Seppanen - Kent Rudberg
Kjell-Arne Larsson - Astrid Karlsson
Nils Ahlén - Ingvar Bladini

Kent Karlsson - Gert Bodén

Leif Engstrom - Daniel Tagerud
Yngve Johansson - Lena Ahlgren
Anita Adlertz-Hansson - Ronny U Persson
Gunilla Aimbladh - Peter Alm

Bo Sahlstrom - Olle Lindberg

Bjorn Vrede - Gunborg Vrede

Hans Greman - Vivianne Bjorkman
Gun Paulsson - Vivi-Ann Harrysson
Jan Akervall - Madeleine Akervall
Ahto Uisk - Ylva Karlsson-Uisk
Sonny Karlsson - Christer Dahmberg
Gosta Jansbo - Bo-Goran Engberg
Rolf Eklund - Tommy Graés

Bertil Eriksson - Karl-Axel Gustavsson
Klas Diamant - Veronica Helenius
Kaarlo Issal - Lennart Andersson
Inge Hultberg - Bert Dahl

Dan Stenmark - Lars Eliason

Carina Jonsson - Acke Carlsson
Gudrun Svensson - Kjell Karlsson
Brittinger Oscarson - Hans Olsson

MID

15967
7164
5864

31818

12089
7638
6686

11024

11580

17982

18164

13174

35452

16175

11695
8058

14665
9775

34472

85752
3814

878

16074

88969

37928

600

81411
2111

17326

50051
3238
8234
3718

21408
6048

17276

34346
5321
3952

79750

447

14056

11978

22918

87458

27425

89558
3225

24659

91066

29003

23186

28464
4148
1410

11058

34452

78416
6536
8217
3215

24955
3946
4155

12293
9771
2627

39167

89668

15387

33183

19275

39086
2801
1126

40768

39816

26542

842
6534
6542

22100

34453

23183

20515

24169
15307
15867
31824
3390
9796
13608
11714
11528
3882
18296
2978
15214
84
3956
87668
7891
2823
32434
25549
3819
3522
7989
18938
8809
6990
20178
1923
345
9234
3237
3260
11196
14816
11742
50538
33197
14619
30156
84159
12559
42497
9734
3958
35307
25544
6077
30933
3368
91053
39226
3382
86539
6595
2392
26610
36088
18301
6537
13984
3220
18563
51787
4113
82203
89191
7053
9226
13186
15390
2045
89662
39087
2802
29000
44403
2886
26543
26609
6543
6533
83504
4146
12488
3183

Klubb

Gévle BK

Sundsvallsbridgen - BK Stopp
Solvesborgs BK

Strangnas BK Gripen

Bollnas BK

Askers. BK Singelton

Tyreso BK

Nynashamns BK - Tyresd BK
Sorsele BK - Bergsjo BK
Akers BK

BK Fyris

Géavle BK

Upsala BS - BK Fyris

BK S:t Erik - Tyresd BK
Akers BK

Gévle BK

Sdélvesborgs BK

Upsala BS

Blomstermala BK

Strangnas BK Gripen

Alnd BK

Vaxjobridgen - Sélvesborgs BK
Strangnas BK Gripen

Géavle BK

Tyreso BK

Ryds BK

Askers. BK Singelton

Liding6 BK - BK S:t Erik
Sdélvesborgs BK

Géavle BK

Bollnas BK
Sundsvallsbridgen

Alnd BK

Solvesborgs BK

Gamla Uppsala BS

Géavle BK

Strangnas BK Gripen
Sundsvallsbridgen - BK Stopp
Strangnés BK Gripen
Solvesborgs BK

BK Stopp

Bollnas BK

Dévas BK Dalom

Akers BK - Strangnas BK Gripen
BK Fyris - Upsala BS
Strangnas BK Gripen
Sdélvesborgs BK

Bollnas BK

Soéderhamns BS - Bollnas BK
Gavle BK

Blomstermala BK

Alnd BK - BK Stopp

Gavle BK

Askers. BK Singelton

BK S:t Erik - Tyreso BK
Sdélvesborgs BK

Askers. BK Singelton - Motala Bridgeallians
Alnd BK

Blomstermala BK

Alnd BK

Sodderhamns BS

Strangnas BK Gripen

BK S:t Erik

Askers. BK Singelton - Kumla BS
BK Fyris

PBF Uppsala - BK Fyris
Solvesborgs BK

Lilla Séllskapet - Kalmarsunds BK
BK Fyris

Tyreso BK

Handens BK

Solvesborgs BK

BK S:t Erik

BK Fyris

Lilla Sallskapet - Blomstermala BK
Tyreso BK

Blomstermala BK

Askers. BK Singelton
Solvesborgs BK
Blomstermala BK
Blomstermala BK

Akers BK - Strangnas BK Gripen
Askers. BK Singelton

Alnd BK

Skutskars BK - Gavle BK
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86 D3 1433.0 46.65 Pierre Winberg - Ola Persson 87444 84911 Bolinas BK
87 G7 1426.0 46.42 Anne Hedlund - Lennart Grahn 14281 17985 Strangnas BK Gripen
88 H9 1417.0 46.13 Gunnel Ohlsson - Magda Persson 19443 84153 Sdlvesborgs BK
89 E2 1411.0 45.93 Hans Orr - Ulf Thorsson 2792 8527 Gamla Uppsala BS
90 H6 1407.0 45.80 Bertil Jonsson - Leo Lub 50662 19011 Sdlvesborgs BK
91 F5 1401.0 45.61 Agneta Hallin - Birgitta Hillstrom 28448 28449 Gavle BK
92 H7 1395.0 45.41 Ann-Christine Pehrson - Ulf Pehrson 91883 91884 Sdlvesborgs BK
93 I3 1391.0 45.28 Jan Jerreman - Berit Trohlin 27054 4822 Tyresd BK
94 G18 13855 45.10 Lars Lundquist - Sonja Lundquist 17975 17976 Strangnas BK Gripen
95 F2 1384.0 45.05 Eleonore Kronback - Inga Karlsson 30328 7562 Gavle BK
96 F11 1383.0 45.02 Helena Skatar - Leif Skatar 91060 92518 Gavle BK
97 116 1382.0 44.99 Curt Piper - Anita Léfgren 9965 83339 Tyresod BK
98 111 1381.0 44.95 Birgit Lidman - Marianne Bergbom 43932 43931 Tyreso BK
98 F16 1381.0 44.95 Agneta Sund - Lars-Ake Sund 87680 80158 Gavle BK
100 G10 1367.0 44.50 Stefan Nystrom - Stefan Svensson 14990 14987 Strangnas BK Gripen - Smedstadens BK
101 H18 1365.0 44.43 Margaretha Bengtsson - Sven-Ake Bengtsson 91599 91600 Sdlvesborgs BK
102 E14 1349.0 43.91 Per-Ake Pettersson - Olle Morell . 9960 2811 BKFyris
103 A13 1348.4 43.89 Karin Goransson-Odlund - UIf Martin Odlund 3713 6993 Alnd BK
104 Al4 13429 43.71 PerJansson - Anna-Karin Larsson 12635 23189 Aln6 BK
105 D6 1342.0 43.68 Goran Eriksson - Carina Westlin 8493 12540 Bollnds BK
105 F8 1342.0 43.68 Kristina Olofsson - Lise-Lotte Elffors 84980 80138 Gavle BK
107 A12 1322.2 43.04 Lillemor Akerdahl - Leif Akerdahl 15964 8292 BK Stopp
108 F13 1322.0 43.03 Tord Larsson - Per-Géran Froberg 83206 83207 Gavle BK
109 H13 1318.0 4290 Gert Forsstrom - Bengt Nilsson 2184 12681 Solvesborgs BK
110 E4 1301.0 42.35 Margaretha Levin Blekastad - Lars Blekastad 40613 37169 BK Fyris
111 B6 1292.6 42.08 Anders Blom - Arve Froseth 93102 30396 Orebridgen - Askers. BK Singelton
112 G9 1291.0 42.02 Peter Seward - Ursula Hansson 18564 3794 Strangnas BK Gripen
113 F14 1280.0 41.67 Bernt Oldberg - Ove Lagerstrom 9280 87662 Gavle BK
114 G20 1279.6 41.65 Katja Pettersson - Tommy Bergqvist 83005 8151 Strangnas BK Gripen
115 F3 1265.0 41.18 Anita Persson - Inga-Lill Magnusson 91061 91062 Gavle BK
116 A4 1262.2 41.09 Yngve Sundberg - Bo Astrand 3711 26383 Alnd BK
117 12 1258.0 40.95 Rolf Ternblad - Bela Kasinsky 37927 37926 Tyresd BK
118 C1 1243.4 40.48 Dan Fransson - Peter Elfverson 12733 1565 Blomstermdla BK
119 D11 1234.0 40.17 Lennart Astrém - Tobias Edvardsson 37540 26334 Bollnas BK
120 D2 1230.0 40.04 Pernilla Andreasson - Eva Netsman 24710 81530 Bollnas BK
121 E5 1227.0 39.94 Robert Andersson - Sven-Erik Andersson 10431 22167 Upsala BS - BK Albrekts
122 14 1224.0 39.84 Gunnar Bergstrom - Sune Vallgren 87862 37925 BK S:t Erik - Tyrest BK
123 F6 1222.0 39.78 Rigmor Stain - Annika Bengtzon 34242 35155 Gavle BK
124 H12 1221.0 39.75 Lars Fridh - Gorel Sundin 27455 27319 Solvesborgs BK
125 G17 1196.7 38.96 Ulf Hedlund - Yngve Pettersson 88372 12000 Strangnas BK Gripen
126 H20 1161.0 37.79 Maria Paulsson - Liselotte Nilsson 30866 50661 Sdlvesborgs BK
127 H4 1106.0 36.00 Anna-Lena Belfrage - Stina Thambert 91859 17421 Solvesborgs BK
128 B5 1097.1 35.71 Anders Larsson - Ann-Louise Knutsson 28143 - Askers. BK Singelton
129 G11 1088.7 35.44 Kent Sundling - Jan-Ake Pettersson 52174 83004 Strangnas BK Gripen
130 D9 1084.0 35.29 Arne Fridh - Tore Bergner 38647 39958 Soderhamns BS
131 E9 1052.0 34.24 Mattias Johansson - Manne Henriksson 40474 40473 BK Fyris
132 115 994.0 32.36 Renate Engvall - Birgitta Eriksson 83268 27205 BK S:t Erik - Tyrest BK
133 Al 921.0 29.98 Lisbeth Jakobsson - Hans Genym +29 +34  Alnd BK - Sundsvallsbridgen
134 G15 888.0 28.91 Sverker Axelson - Ulla Jansson 89687 26310 StrAngnas BK Gripen
1 +E Basta kontrakt 2 « EKD1075 Basta kontrakt 3 « Kn5 Basta kontrakt
Nord vD1093 44 N =130 Ost vKKn 3v OD-1100 Syd vE73 4%V =-130
Ingen ¢ 432 NS + Kn109 ov + Kn9543
#75432 & ¢ v & NT #105 & ¢ v & NT «D108 & ¢ v & NT
4 K1094 4 Kn8752 N 108 6 5 6 4« Kn2 #8643 N6 7588 49 » EK1032 N2 3867
v74 v KKn852 S 108 6 5 6 v 109653 vES8 S 67588 v42 vD6 S 23867
410985 ¢ Kn6 025784 + D653 +E4 076845 ¢+ ED10862 ¢ K O 109 4 7 6
#E98 +K V257284 #EK +D9762 V76845 #Kn942 #EK763 V 109 4 7 6
« D63 49 « D8764
vE6 vD742 v KKn10985
+ EKD7 + K872 .7
#DKn106 #Kn843 *5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
H11 H3 3NS+1 7 430 1280 0.0| D7 D12 24aDN+1 vA 870 128.0 0.0(Al6 A2 5¢DV-3 800 128.0 0.0
A8 A9 3NS= 400 1240 4.0|All1 A6 24 N+2 170 126.0 2.0|H14 H7 4v O-6 ¥v5 600 126.0 2.0
C8 C3 3NS= ¢T 400 1240 4.0(B10 B5 340-3 49 150 1240 40| C8 C3 34DS= 49 530 1230 50
E14 E1 3NS= 400 1240 4.0| B2 B4 24 N+1 vA 140 1070 21.0( F8 F4 3vDS= 49 530 1230 50
F6 F16 INS+2 49 150 1190 90| H4 H17 24 N+1 vA 140 107.0 21.0| H1 H15 4v S= 49 420 1200 8.0
E13 E2 2NS+1 150 1190 90| C6 C5 24 N+1 &2 140 107.0 21.0| E1 E3 44 O- 400 116.0 12.0
B2 B4 44 N= 42 130 109.0 19.0| E6 E9 24 N+1 140 107.0 21.0|F15 F3 44 O-4 +v8 400 116.0 12.0
E3 E12 44 N= 130 109.0 190(| F7 F3 24 N+1 vA 140 107.0 210(F18 F5 34 O-4 7 400 116.0 12.0
G4 G18 24 S+2 v7 130 1090 190| D8 D6 24 N+1 vA 140 107.0 21.0| D4 D3 3NO-3 v8 300 104.0 24.0
D9 D1 3#S+1 49 130 109.0 19.0( G8 G15 24 N+1 #2 140 107.0 21.0| H6 H20 3NO-3 +v8 300 1040 24.0
Al3 A4 34 N+1 130 109.0 19.0| G9 G17 24 N+1 &2 140 107.0 210 16 111 34 O-3 7 300 104.0 24.0
Al6 Al 1& S+3 130 109.0 19.0 (G10 G19 24 N+1 vA 140 107.0 21.0| D8 D6 44 O-3 ¢7 300 104.0 24.0
116 11 44 N= 45 130 109.0 19.0|E1l1 E4 24 N+1 140 107.0 21.0| F9 F14 34 O-3 &5 300 104.0 24.0
H18 H10 2# S+2 v7 130 109.0 19.0|F12 F11 24 N+1 vA 140 1070 21.0| 19 18 44 O-3 &5 300 1040 24.0
D2 D11 INS+1 T 120 98.0 300|112 I5 24 N+1 vA 140 107.0 210(F11 F6 34 O-3 &5 300 104.0 240
C4 C7 INS+1 T 120 98.0 30.0(F13 F1 24 N+1 vA 140 107.0 210(H12 H4 3NO-3 ¥5 300 104.0 24.0
H19 H2 INS+1 &4 120 98.0 30.0(F14 F8 24 N+1 &2 140 107.0 21.0(G21 G20 34 O-3 ¢7 300 104.0 240
B3 B6 34 S-= v7 110 92.0 360(F18 F4 24 N+1 vA 140 107.0 21.0| G5 G19 5¢ V-2 4J 200 91.0 37.0
A5 Al12 3& N= 110 92.0 36.0|G22 G21 24 N+1 vA 140 107.0 21.0| B7 B8 34 O-2 &5 200 91.0 37.0
F15 F2 2v S= +4 110 92.0 36.0( F9 F17 2NS= ¢5 120 90.0 38.0(B10 B5 3NV-2 &8 200 91.0 37.0
G3 G16 2v O-2 ¢A 100 87.0 410(| D2 D11 14 N+1 vA 110 65.0 63.0(H17 H5 4¢ V-2 vA 200 91.0 37.0
D7 D12 2vDO-1 ¢A 100 87.0 410| D4 D3 24 N= ¢A 110 65.0 63.0| G2 G13 3v S= 49 140 84.0 44.0
E6 E9 INS= 90 82.0 46.0( A5 Al2 24 N= 110 65.0 63.0({C10 Cl1l 3v S= 49 140 84.0 440
B7 B8 INS= 44 90 82.0 46.0( E5 E10 24 N= 110 65.0 630|115 12 3v S= 49 140 84.0 44.0
Cl10 Cl1l INS= a4 90 82.0 46.0| H6 H14 24 N= ¢A 110 65.0 63.0( D2 D11 34 O-1 ¢7 100 72.0 56.0
13 114 34 V-1 T 50 73.0 55.0( 16 111 24 N= ¢A 110 65.0 63.0| G4 G17 54 0-1 ¢7 100 72.0 56.0
H6 H14 34 V-1 &7 50 73.0 55.0| G7 G13 24 N= ¢A 110 65.0 63.0| A6 Al3 64 O-1 100 72.0 56.0
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E7 E8 34 O-1 50 73.0 550| H7 H9 24 N= ¢A 110 65.0 63.0| A8 All 4¢ V-1 100 72.0 56.0
19 18 2v0-1 ¢A 50 73.0 55.0| A8 A9 24 N= 110 65.0 630 E8 E9 34 O-1 100 72.0 56.0
Gl4 G2 34 0-1 +Q 50 73.0 55.0| D9 D1 24 N= vA 110 65.0 630 G8 G14 34 O-1 48 100 72.0 56.0
G20 G5 34 0-1 K 50 73.0 550| 19 18 24 N= vA 110 65.0 63.0(D10 D5 5#V-1 vA 100 72.0 56.0
14 113 INS-1 4 -50 53.0 75.0|C10 Cl1l 14 N+1 +A 110 65.0 63.0(H11 H18 5#V-1 #8 100 72.0 56.0
C6 C5 3NS-1 T -50 53.0 75.0|F10 F5 24 N= ¢A 110 65.0 63.0(E14 E2 54 0O-1 100 72.0 56.0
F7 F3 2NS-1 &4 -50 53.0 750|110 17 24 N= «2 110 65.0 63.0( H8 H10 4v S-1 46 -50 62.0 66.0
D8 D6 INS-1 &4 -50 53.0 75.0|H11 H3 24 N= vA 110 65.0 630 C6 C5 4vDS-1 49 -100 550 73.0
G9 G17 3NS-1 +5 -50 53.0 75.0|A13 A4 24 N= 110 65.0 63.0(G10 G18 3vDS-1 49 -100 55.0 73.0
B10 B5 3NS-1 9 -50 53.0 75.0|E13 E2 24 N= 110 65.0 63.0(El2 ES5 4vDS-1 -100 55.0 73.0
G10 G19 3NS-1 T -50 53.0 75.0|E14 El1 24 N= 110 65.0 630(|F13 F2 4vS-2 49 -100 550 73.0
F12 F11 3NS-1 49 -50 53.0 75.0|G14 G2 24 N= vA 110 65.0 63.0(H13 H2 4vS-2 49 -100 55.0 730
112 15 INS-1 &4 -50 53.0 75.0|Al5 A2 24 N= 110 65.0 63.0(H19 H3 4vDS-1 4«8 -100 550 73.0
Al4 A3 4+ S-1 -50 53.0 75.0|F15 F2 14 N+1 #2 110 65.0 63.0| E4 E13 24 O= -110 46.0 82.0
F14 F8 3NS-1 v6 -50 53.0 75.0|H16 H8 24 N= ¢A 110 65.0 63.0(F10 F17 24 O= «5 -110 46.0 82.0
Al5 A2 3NS-1 -50 53.0 75.0|H18 H10 24 N= vA 110 65.0 63.0(G22 G6 3¢ V= «8 -110 46.0 82.0
F18 F4 3NS-1 T -50 53.0 75.0|G20 G5 24 N= vA 110 65.0 630| C4 C7 4+#0-= vJ -130 40.0 88.0
G22 G21 4#S-1 +T -50 53.0 75.0| G3G16 2NO-2 2 100 350 930 14 113 2#0+2 +8 -130 40.0 88.0
D4 D3 64N-2 8 -100 320 96.0( I3 114 2NO-2 #3 100 35.0 93.0({A14 A5 340+l -130 40.0 88.0
E5 E10 2N S-2 -100 320 96.0| G4 G18 3v V-2 «Q 100 35.0 93.0(|G15 G3 24 O+1 &5 -140 36.0 92.0
G7 G13 2NS-2 44 -100 320 96.0(Gll G6 3#0O-2 49 100 350 930 G9 G16 4#O+1 48 -150 32.0 96.0
H7 H9 2NS-2 9 -100 320 96.0(H13 H1l 3vV-2 «A 100 35.0 930(Gl2 G7 4#0O0+1 ¢7 -150 32.0 96.0
E1l E4 3NS-2 -100 32.0 96.0|Al14 A3 3&V-2 100 35.0 930|112 15 440+1 ¢7 -150 32.0 96.0
F13 F1 3NS-2 9 -100 320 96.0| B3 B6 3vV-1 «A 50 20.0 1080 I3 114 4« O+2 ¢7 -170 27.0 101.0
115 12 INS-2 9 -100 32.0 96.0| E3 E12 24 0O-1 50 20.0 108.0 ([F16 F7 4#O+2 ¢7 -170 27.0 101.0
Gll G6 24 V= ¢3 -110 23.01050| C4 C7 3#40-1 49 50 20.0 1080 116 11 5vDN-2 «A -300 24.0 104.0
H20 H5 24 V= ¢4 -110 23.0 105.0( F6 F16 24 0-1 49 50 20.0 108.0( B2 B4 5& V= ¢7 -600 17.0 1110
H4 H17 24 V+1 ¢4 -140 18.0 1100 E7 E8 3#0-1 50 20.0 108.0| E6 E11 54 O= -600 17.0 111.0
D10 D5 24 V+1 3 -140 18.0 110.0| C8 C3 3v V-1 &K 50 20.0 108.0 D7 D12 5# V= «J -600 17.0 111.0
H16 H8 24 V+1 ¢4 -140 18.0 110.0|D10 D5 3vV-1 A 50 20.0 108.0( E7 E10 5% V= -600 17.0 111.0
G8 G15 2NS-3 4 -150 10.0 118.0 (H12 H15 3#0O-1 «T 50 20.0 1080 D9 D1 3NV= v3 -600 17.0 111.0
F9 F17 3NS-3 4 -150 10.0 118.0(H20 H5 2v V-1 «A 50 20.0 1080 110 17 5# O = ¢7 -600 17.0 111.0
110 17 3NS-3 44 -150 10.0 1180 14 113 34 N-1 4A -100 5.0 123.0| A1 A3 50O +1 -620 6.0 122.0
All A6 3NS-3 -150 10.0 118.0| B7 B8 3«4 N-1 vA -100 5.0 123.0| F1 F12 5#O0+1 +7 -620 6.0 122.0
H13 H1l 3NS-3 44 -150 10.0 118.0| 115 12 24 N-1 ¢A -100 5.0 123.0| B3 B6 54 O+1 ¢7 -620 6.0 122.0
16 111 3NS-4 49 -200 2.0 126.0 |A1l6 Al 24 N-1 -100 5.0 123.0 |A1l2 A7 5# O +1 -620 6.0 122.0
F10 F5 3NS-4 49 -200 2.0 126.0| 116 11 34 N-1 vA -100 5.0 123.0|Al5 A4 54 O +1 -620 6.0 122.0
H12 H15 3NS-4 44 -200 2.0 126.0 |H19 H2 34 N-1 ¢A -100 5.0 123.0| H9 H16 3NV +3 3 -690 0.0 128.0
- G12 74.6 - G12 74.6 - Gl11 45.4
A7 - 71.4 A7 - 71.4 A9 - 66.5
- Bl 73.0 - Bl 73.0 - Bl 73.0
- C2 61.8 - C2 61.8 - C2 61.8
4 43 Basta kontrakt 5 43 Basta kontrakt 6 4 EK3 Basta kontrakt
Vast v K8 34 N =110 Nord vE752 5v O D -2 300 Ost v DKn3 34 S =140
Alla + E652 NS + Kn1093 ov + 84
#K108762 & ¢ v & NT #EK108 & ¢ v & NT #E10543 & ¢ v & NT
« KD64 4 Kn75 N9 6467 4 EK « 10964 N 114 3 8 6 a- 4 D10752 N6 87 9 8
vKn10543 vE97 S96 467 vKn984 vKD103 S 114 3 8 6 v E65 v 10842 S687 98
¢ KD 4109843 047875 ¢ KD742 +ES85 028937 ¢ K7632 ¢ Kn 075645
*E9 #Kn3 V478735 *Kn7 «D5 V28937 #D9876 #KKn2 V65535
« E10982 « DKn8752 + Kn9864
v D62 v6 v K97
¢ Kn7 +6 ¢ ED1095
«D54 #96432 *-
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
H19 H3 INO-4 48 400 1280 0.0| A9 Al2 24DS+1 870 1280 0.0( 17 112 3#DO-4 «4 1100 1280 0.0
B3 B5 3vV-2 &3 200 1210 7.0|H14 H8 44 S= ¢K 620 1260 20( 110 9 3#DV-3 «4A 800 1260 20
C5 C8 4v0-2 &4 200 121.0 7.0| E7 E12 5 N= 600 1240 40| C5 C8 3#DV-2 «A 500 1240 4.0
E7 E10 INV-2 200 121.0 70| D1 D7 24 S+1 4K 140 1150 13.0| G5 G18 44 S= ¢2 420 1220 6.0
B10 B6 3v V-2 43 200 121.0 7.0| A2 A4 24 S+1 140 1150 13.0| 11 13 2v0-2 &6 200 118.0 10.0
111 I8 3vV-2 «3 200 121.0 70| B4 B7 34 S= v8 140 1150 13.0|B10 B6 3#DV-1 &K 200 118.0 10.0
H12 H4 4y V-2 &2 200 121.0 7.0|D10 D6 34 S= 4K 140 1150 13.0|C10 C2 3#DO-1 4 200 118.0 10.0
H6 H20 4# N= vA 130 108.0 20.0|G10 G17 24 S+1 ¢K 140 1150 13.0(E14 E3 2NS+2 180 114.0 14.0
F9 F14 3#N+1 vA 130 1080 200(F12 F7 24 S+1 #J 140 1150 13.0| E7 E12 24 S+2 170 1110 17.0
D10 D6 3#N+1 vA 130 108.0 20.0(Al13 A8 1a S+2 140 1150 13.0|G13 G8 14 S+3 ¢3 170 111.0 17.0
Al4 A5 34 S+1 130 108.0 20.0 (A16 A3 24 S+1 140 115.0 13.0|H10 H16 24 S+1 3 140 104.0 24.0
El4 E2 3&#N+1 130 108.0 20.0| H1 H5 3# N= vK 110 103.0 25.0(F13 F3 24 S+1 &9 140 1040 240
Al5 A4 44 N-= 130 108.0 200 11 I3 24 S= v4 110 103.0 25.0(F16 F8 24 S+1 ¢2 140 1040 240
G21 G20 2#N+2 vA 130 1080 20.0| D9 D2 24 S= ¢K 110 103.0 250 116 12 14 S+2 +6 140 1040 240
B4 B7 24 N+1 8 110 96.0 32.0|G21 G6 3# N-= ¢A 110 103.0 25.0|H20 H7 14 S+2 2 140 104.0 24.0
A6 Al3 3& N= 110 96.0 320 F2 F1 3NO-2 &7 100 91.0 37.0(F17 F11 INN+1 &7 120 98.0 30.0
E8 E9 3« N= 110 96.0 320 D5 D4 3NV-2 +J 100 91.0 370( B3 B5 24 S= +3 110 93.0 35.0
113 16 3# N= vK 110 96.0 320 G5 G18 4v V-2 43 100 91.0 370 I5 114 24 S= v5 110 93.0 35.0
H14 H7 3# N= vA 110 96.0 320 B8 Bl 4v O-2 42 100 91.0 370 F9 F5 14 S+1 6 110 93.0 35.0
El E3 4v V-1 100 740 540(C10 C2 4v V-2 &A 100 91.0 37.0(G20 G19 24 S= &7 110 93.0 35.0
F1 F12 3v V-1 3 100 740 540|116 12 4vDO-1 ¢6 100 91.0 37.0(F14 F10 INN= v4 90 88.0 40.0
D3 D11 4v V-1 3 100 74.0 540(F17 F11 2NO-2 &7 100 91.0 370 H1 H5 44 S-1 vA -50 71.0 57.0
E4 E13 3¢ O-1 100 74.0 540 (H18 H12 4¢DV-1 43 100 91.0 370 F2 F1 3NN-1 &K -50 71.0 57.0
D8 D12 4v V-1 3 100 740 540 C1 C3 3vO-1 #6 50 75.0 530 G2 G12 44 S-1  ¢7 -50 71.0 57.0
H8 H10 3v V-1 3 100 740 540 14 115 3vO-1 +6 50 75.0 530 D5 D4 44 S-1  #8 -50 71.0 57.0
G9 G16 3v V-1 43 100 740 540 A7 Al4 4v O-1 50 75.0 53.0( A7 Al4 44 S-1 -50 71.0 57.0
Cl0 C2 3vV-1 43 100 740 540 C7 C6 3vO-1 +6 50 75.0 53.0| E8 E11 44 S-1 -50 71.0 57.0
F10 F17 3v V-1 43 100 74.0 540 H9 H11 3NV-1 ¢J 50 75.0 53.0| A9 Al12 44 S-1 -50 71.0 57.0
G10 G18 3v V-1 3 100 740 540(B10 B6 2NV-1 &K 50 75.0 53.0( G9 G15 44 N-1  ¢J -50 71.0 57.0
F11 F6 4v V-1 &8 100 740 540(F13 F3 3vO-1 +6 50 75.0 53.0(D10 D6 44 S-1 vA -50 71.0 57.0
H1l H18 3v V-1 43 100 740 540 (F14 F10 4v O-1 +6 50 75.0 53.0(G10 G17 44 S-1  v5 -50 71.0 57.0
E12 E5 3v V-1 100 740 540(G13 G8 2¢ V= 3 90 66.0 62.0|E13 E6 44 S-1 -50 71.0 57.0
Gl12 G7 3v V-1 3 100 740 540| D3 D11 24 S-1 ¢K -100 600 680|113 16 44 N-1 ¢J -50 71.0 57.0
F15 F3 3v V-1 43 100 740 540 F9 F5 5#S-1 +¢A -100 60.0 68.0|H14 H8 44 S-1 &7 -50 71.0 57.0
F16 F7 3v V-1 43 100 740 540|113 16 INN-1 46 -100 60.0 68.0(Al5 A6 44 S-1 -50 71.0 57.0
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H17 H5 3v V-1 43 100 74.0 540 |Al5 A6 44 S-1 -100 60.0 68.0 |H15 H2 44 S-1 6 -50 71.0 57.0
110 19 14S-1 #A -100 550 73.0(G16 G4 2NN-1 ¢5 -100 600 68.0|G21 G6 44 S-1 vA -50 71.0 57.0
H13 H2 4#N-1 vA -100 550 73.0| G3 Gl14 2¢ V+1 43 -110 480 80.0| C1 C3 44 S-2 #6 -100 36.0 920
H1 H15 2v V= 3 -110 46.0 820| 17 112 2¢ V+1 3 -110 480 80.0| D1 D7 44 S-2 #6 -100 36.0 92.0
11 13 2¢v V= 3 -110 46.0 82.0| E9 E10 2¢ V+1 -110 48.0 80.0| A2 A4 44 S-2 -100 36.0 92.0
14 115 1lvV+1 3 -110 46.0 82.0| G9 G15 3¢ V= #A -110 480 80.0| E2 E4 44 S-2 -100  36.0 92.0
17 112 2v V= 3 -110 46.0 820|110 19 3¢ V= «A -110 48,0 80.0| D3 D11 44 N-2 ¢J -100 36.0 92.0
F8 F4 2v V= 3 -110 46.0 82.0|Gll G7 3¢ V= 43 -110 480 80.0| G3G14 24S-2 #9 -100 36.0 92.0
H9 H16 2v V= 43 -110 460 820|F16 F8 2¢ V+1 A -110 480 80.0| B4 B7 44DS-1 2 -100 36.0 92.0
116 12 1vV+l &7 -110 46.0 820| E2 E4 2v O+1 -140 350 93.0| H4 H19 3NN-2 &5 -100 36.0 92.0
F13 F2 INO+1 48 -120 380 90.0| I5 114 2¢O+1 #9 -140 350 93.0( 14 115 44 N-2 #J -100 36.0 92.0
Al A3 2v V+1 -140 22.0 106.0 |[H10 H16 2v O+1 #9 -140 35.0 930 F6 F18 34DS-1 #9 -100 36.0 920
D1 D7 3v V= 6 -140 220 106.0| 111 18 2vO+1 &2 -140 350 93.0| H6 H17 44 S-2 «7 -100 36.0 92.0
G2 G13 3v V= ¢A -140 22.0 106.0 |E14 E3 3v V= -140 350 93.0| C7 C6 44S-2 #8 -100 36.0 920
G4 G17 2y V+1 3 -140 220 106.0(H15 H2 2v O+1 ¢6 -140 350 93.0| B8 Bl 2NN-2 45 -100 36.0 92.0
D5 D4 3v V= 3 -140 220 106.0| G2 G12 2vO+2 46 -170 26.0 102.0| D8 D12 44DS-1 «2 -100 36.0 92.0
G5 G19 2v V+1 &3 -140 22.0 1060 B3 B5 2v O+2 46 -170 26.0 102.0| H9 H11 44 S-2 &6 -100 36.0 92.0
I5 114 2vV+1 &3 -140 220 1060 H4 H19 3v O+1 ¢6 -170 26.0 102.0|G11 G7 3NN-2 45 -100 36.0 92.0
E6 E11 3v V= -140 22.0 106.0| F4 F15 1¢ N-2 vK -200 20.0 1080 111 18 2NN-2 &5 -100 36.0 92.0
C7 C6 3v V= 43 -140 220 106.0| C5 C8 34DS-1 ¢K -200 20.0 108.0|F12 F7 44 S-2 #9 -100 36.0 92.0
A8 All 3v V= -140 22.0 106.0| D8 D12 44 S-2 ¢K -200 20.0 108.0(H13 H3 44 S-2 &9 -100 36.0 920
B8 Bl 2vV+l ¢A -140 220 106.0|G20 G19 44 N-3 ¢K -300 16.0 112.0f A1 A5 2NN-3 -150 10.0 118.0
Al2 A7 2v V+1 -140 22.0 106.0| A1 A5 3NV= -400 12.0 116.0| E5 E1 44 S-3 -150 10.0 118.0
G15 G3 3v V= 2 -140 220 106.0| E5 E1 3NV= -400 12.0 116.0| D9 D2 3NN-3 #2 -150 10.0 118.0
Al6 A2 3v V= -140 22.0 106.0 |[E13 E6 3NO= -400 12.0 116.0| E9 E10 44 S-3 -150 10.0 118.0
G22 G6 3v V= 3 -140 22.0 106.0| F6 F18 4v O= ¢6  -420 6.0 122.0|A13 A8 3NN-3 -150 10.0 118.0
Cl C3 3vV+l 43 -170 6.0 122.0| H6 H17 4v O = ¢6  -420 6.0 122.0|G16 G4 44 S-3 3 -150 10.0 118.0
G8 G14 INO+3 T -180 4.0 124.0| E8 E11 4v V= -420 6.0 122.0 |H18 H12 44 S-3 vA -150 10.0 118.0
F18 F5 24 S-3 ¢K -300 2.0 126.0 |H13 H3 3¢DV= &3 -470 1.0 127.0| F4 F15 44 S-4 #6 -200 2.0 126.0
D9 D2 2#S-4 vJ -400 0.0 128.0|H20 H7 3¢DV= &A -470 1.0 127.0|A16 A3 44DS-2 -300 0.0 128.0
- G11 45.4 - G22 75.5 - G22 75.5
A9 - 66.5 - B2 80.7 - B2 80.7
- B2 80.7 - C4 67.2 - C4 67.2
- C4 67.2 - All 75.2 - All 75.2
7 «ED Basta kontrakt 8 +103 Basta kontrakt 9 # DKn5 Basta kontrakt
Syd v DKn743 5v S =650 Vast v KKn10943 4v N =420 Nord v D95 4v O =-620
Alla ¢ E83 Ingen +9 ov ¢ 94
#E107 & ¢ v & NT #E643 & ¢ v & NT #E5432 & ¢ v &4 NT
4« K10952 #8763 N 109 117 10 «E97 4D8654 N 109 107 8 «E103 » K6 N5 436 4
v K6 vE98 S 109 117 10 vD862 vE7 S 119 107 8 vE743 v K1082 S54364
¢ Kn654 ¢ 1097 023262 ¢D32 ¢ Knl085 024354 ¢ Kn1073 ¢ E65 08 9 107 9
*64 #952 V23262 #Kn92 #75 V24354 #Knl10 +KD76 vV 8 9 107 9
4 Kn4 & KKn2 498742
v 1052 v5 v Kn6
¢ KD2 ¢ EK764 ¢ KD82
#KDKn83 #KD108 »98
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr ut Res Poéng
H10 H12 3NS+3 2 690 1280 0.0| 16 115 3NS+2 2 460 1270 10| B4 B6 3NO-1 42 100 1230 5.0
H1 H18 3NN+2 8 660 1150 13.0(H13 H4 3NS+2 6 460 1270 10| C8 C7 3NO-1 49 100 1230 5.0
G2 G11 3NS+2 2 660 1150 130| E6 E2 4v N+1 450 123.0 5.0(All1 A14 4NO-1 100 1230 5.0
A3 A5 3NS+2 660 115.0 13.0(G12 G8 4y N+1 45 450 1230 50(G15G10 4vO-1 K 100 123.0 5.0
F3 F2 3NS+2 &5 660 1150 13.0| H1 H18 3NS+1 9 430 1130 150|H15 H4 4v O-1 &9 100 123.0 5.0
G4 G15 3NN+2 8 660 1150 130| E3 E5 3NN+1 430 113.0 15.0(H16 H12 4v O-1 9 100 123.0 5.0
E6 E2 3NN+2 660 1150 130f G4 G15 3NS+1 47 430 113.0 150 A9 Al 24 S-1 -50 116.0 12.0
F10 F6 3NS+2 49 660 1150 13.0| H7 H17 3NS+1 2 430 113.0 150(F18 F8 44 S-2 v4 -100 1140 140
111 110 3NS+2 &5 660 115.0 13.0( A8 Al5 3NS+1 430 113.0 150 12 14 2¢» O+1 #9 -140 111.0 17.0
Gl2 G8 3NN+2 47 660 1150 13.0| 112 19 3NS+1 &7 430 113.0 150 E7 E3 3v O= -140 111.0 17.0
H14 H9 3NN+2 48 660 1150 13.0(G14 G9 3NS+1 2 430 113.0 150 D1 D12 INO+2 &2 -150 106.0 22.0
H19 H5 3NN+2 T 660 1150 13.0|H16 H11 3NS+1 &7 430 113.0 150 E4 E6 INO+2 -150 106.0 22.0
G22 G7 5NS= ¢4 660 1150 13.0| Bl B2 4v N= a4 420 96.0 320( G6 G19 INV+2 &3 -150 106.0 22.0
Bl B2 4v N+1 vA 650 81.0 470| E1 E7 4v N= 420 96.0 320 C2 C4 1lvO+3 49 -170 96.0 32.0
El E7 4v N+1 650 81.0 47.0| F7 F18 4v N= &7 420 96.0 320 H2 H18 3v O+1 &9 -170 96.0 32.0
A2 A6 4v N+1 650 81.0 470 E8 E13 4y N= 420 96.0 32.0(D10 D7 2v O+2 +K -170 96.0 320
C2 C4 5v N= 8 650 81.0 47.0| 18 113 4v N= a4 420 96.0 320(G13 G9 3vO+1 #9 -170 96.0 32.0
D2 D8 5v N= ¢T 650 81.0 47.0|B10 B7 4v N= &7 420 96.0 320(|F15 F6 3vO+1 49 -170 96.0 32.0
H2 H6 4v N+1 48 650 81.0 47.0|E10 E11 4v N= 420 96.0 320(F17 F1 3vO+1 &9 -170 96.0 320
E3 E5 Sv N= 650 81.0 47.0|Al4 A9 4v N= 420 96.0 32.0(G18 G17 3v O+1 49 -170 96.0 32.0
G3 G13 4y N+1 48 650 81.0 47.0|G22 G7 4v N= &7 420 96.0 320 16 115 INV+3 #2 -180 88.0 40.0
D6 D5 4v S+1 ¢4 650 81.0 47.0( D1 D12 3NS= #2400 75.0 530( D9 D3 2vO+3 +¢2 -200 86.0 420
G6 G20 4y N+1 T 650 81.0 470 F1 F8 3NS= 47 400 75.0 530| G2 G22 3NO= ¢2 -600 78.0 50.0
F7 F18 4v N+1 8 650 81.0 470 F3 F2 3NS-= 47 400 75.0 53.0| A3 A7 3NO= -600 78.0 50.0
H7 H17 4vy N+1 &8 650 81.0 47.0( H8 H20 3N S= &7 400 75.0 53.0( H6 H19 3NO= 47 -600 78.0 50.0
A8 Al5 5v S= 650 81.0 47.0|Cl0 C3 3NS= ¢2 400 75.0 53.0|H11 H1 3NO= 2 -600 78.0 50.0
E9 E12 4v N+1 650 81.0 470|F10 F6 3NS= «2 400 75.0 53.0|F13 F5 3NO= 4 -600 78.0 50.0
D10 D7 4y N+1 48 650 81.0 47.0|All Al12 3NS= 400 75.0 53.0(H14 H10 3NO= 8 -600 78.0 50.0
E10 E11 4v N+1 650 81.0 47.0|Fl14 F11 3NS= a7 400 75.0 53.0|H20 H9 3NO= «9 -600 78.0 50.0
All A12 5v N= 650 81.0 47.0(H14 H9 3NS= v6 400 75.0 530| B1 B2 4v O= 9 -620 40.0 88.0
F13 F4 4vy N+1 46 650 81.0 47.0(H15 H3 3NS= &7 400 75.0 530 A2 A8 4v O= -620 40.0 88.0
E1l4 E4 4v N+1 650 81.0 47.0(Al6 A4 3NS= 400 75.0 530| D2 D8 4v O= 9 620 40.0 88.0
F15 F5 4v N+1 48 650 81.0 47.0|G17 G5 3NS= 47 400 75.0 530 E2 E8 4v V= -620 40.0 88.0
H16 H11 4y N+1 &7 650 81.0 470 G6 G20 34 O-4 v5 200 61.0 670 F2 F9 4v O= «9 -620 400 88.0
G19 G18 4y N+1 T 650 81.0 470|116 13 2v S+3 2 200 61.0 67.0| G3 G12 4v O= 9 620 40.0 88.0
Cl C5 3NS+1 &5 630 440 84.0( G2 G11 2v S+2 &7 170 53.0 75.0| H3 H7 4v O= 8 -620 40.0 88.0
F1L F8 3NS+1 42 630 440 84.0( H2 H6 2v N+2 #7 170 53.0 750 A4 A6 4v O= -620 40.0 88.0
12 14 3NN+1 v9 630 44.0 84.0( A3 A5 2v S+2 170 53.0 750 F4 F3 4v O= 9 620 40.0 88.0
I5 11 3NS+1 &5 630 440 84.0( IS5 11 3vN+1 ¢J 170 53.0 75.0| G4 G14 4v O= 9 -620 40.0 88.0
16 115 SNN+1 49 630 440 84.0(E14 E4 2v S+2 170 53.0 75.0| G5 G16 4y O= 7 -620 400 88.0
H8 H20 3NN+1 46 630 440 84.0(F15 F5 3v N+1 &4 170 53.0 750 I5 11 4vO= 9 620 40.0 88.0
18 113 3NS+1 &5 630 440 84.0( C1 C5 34 0-3 v5 150 45.0 83.0( G7 G21 4v O = ¢K -620 40.0 88.0
D9 D3 3NS+1 45 630 440 84.0|H10 H12 2NS+1 2 150 450 83.0| I8 113 4v O= 9 -620 400 88.0
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G10 G16 3NS+1 &K 630 440 84.0| C2 C4 2v N+1 &7 140 40.0 88.0| E9 E1 4vO= -620 40.0 88.0
112 19 3NS+1 «2 630 44.0 84.0| B5 B8 3v N= v3 140 40.0 88.0(B10 B7 4v O= 47 -620 400 88.0
Al4 A9 3NS+1 630 44.0 84.0|F17 F12 2v N+1 &7 140 40.0 88.0|C10 C3 4v O= 42 -620 400 88.0
Gl4 G9 3NN+1 &8 630 440 84.0| 12 14 24S+2 &A 130 34.0 94.0(E10 E13 4v O= -620 40.0 88.0
H15 H3 3NN+1 &3 630 440 84.0| E9 E12 34 S+1 130 34.0 94.0|F10 F16 4v O= ¢K -620 40.0 88.0
A16 A4 3NN +1 630 440 84.0| 111 110 24 S+2 42 130 340 940(D11 D4 4v O= 8 -620 40.0 88.0
116 13 3NN+1 46 630 440 84.0| D9 D3 24 O-2 v5 100 30.0 980(F11 F7 4vO= «9 -620 400 88.0
F17 F12 3NS= 42 600 27.0 101.0 [G10 G16 24 O-1 ¢A 50 28.0 100.0| 111 110 4v O = «9 -620 400 88.0
G17 G5 3NS= 42 600 27.0 101.0| A1 A7 3¢ S-1 -50 15.0 113.0 |[A12 A13 4v O= -620 40.0 88.0
Al A7 2v N+3 200 22.0 1060 A2 A6 4v S-1 -50 15.0 113.0| 112 19 4v O= ¢+Q -620 40.0 880
D11 D4 3vy N+2 46 200 22.0 106.0| D2 D8 3NS-1 &7 -50 15.0 113.0 ([H13 H5 4v V= 49 -620 400 88.0
114 17 2v N+3 «6 200 22.0 106.0| G3 G13 3NS-1 ¢2 -50 15.0 113.0|E14 E5 4v O= -620 40.0 88.0
F14 F11 2NN+2 #8 180 18.0 110.0| B4 B6 6#S-1 4A -50 15.0 113.0|F14 F12 4v O= «9 -620 400 88.0
D1 D12 6vy N-1 46  -100 9.0 119.0| C8 C7 3NS-1 &9 -50 15.0 113.0| 114 17 4v O= «9 -620 400 88.0
B4 B6 6v N-1 vA -100 9.0 119.0 (D10 D7 3NS-1 &7 -50 15.0 113.0|A16 A5 4v O= -620 40.0 88.0
C8 C7 6vyN-1 ¢8 -100 9.0 119.0 (D11 D4 3¢ S-1  v6 -50 15.0 113.0| 116 13 4v O= «9 -620 400 88.0
E8 E13 6v N-1 -100 9.0 119.0 |[F13 F4 3NS-1 &7 -50 15.0 113.0 |[H17 H8 4v O= 49 -620 400 88.0
B10 B7 6#S-1 49 -100 9.0 119.0( 114 17 3NS-1 &7 -50 15.0 113.0| D6 D5 3NO+1 +J -630 8.0 120.0
Cl10 C3 6vy N-1 48 -100 9.0 1190 |F16 F9 3NS-1 ¢2 -50 15.0 113.0| C1 C5 4v O+1 44 -650 4.0 124.0
H13 H4 6NS-1 42 -100 9.0 119.0 (G19 G18 3NS-1 ¢2 -50 15.0 113.0 ([E11 E12 4v O +1 -650 4.0 124.0
F16 F9 6v N-1 46 -100 9.0 119.0( D6 D5 6#S-2 4A -100 2.0 126.0|G11 G8 4v O+l v6 -650 4.0 124.0
B5 B8 3NS-2 42 -200 0.0 128.0|H19 H5 3NS-4 #9 -200 0.0 128.0( B5 B8 3NO+2 &6 -660 0.0 128.0
- G21 79.5 - G21 79.5 - G20 53.3
C6 - 61.7 C6 - 61.7 C6 - 61.7
- B3 66.6 - B3 66.6 - B3 66.6
- A13 56.2 - A13 56.2 |A15 - 67.0
10 483 Basta kontrakt 11 «K74 Basta kontrakt 12 «ED2 Basta kontrakt
Ost vKn4 24 O =-110 Syd v 843 2NT SD-1-100 |Vast v KKn5 24 V =-110
Alla + EKn984 Ingen 4 Kn92 NS + DKn10
#D1043 & ¢ v & NT #EKD7 & ¢ v & NT #9765 & ¢ v & NT
4 E10642 4D9 N57 656 4 DKn9 4108532 N6 7747 4 KKn87 4643 N57 756
vKD v 10532 S5765686 v EDKn v 95 S 68857 v 103 v 8764 S5775686
+ K63 4 1052 076687 ¢ ED1053 +¢38 O6 55 86 ¢E875 ¢K6 O7 6 6 86
#E97 #KKn65 V7686187 298 #Kn10532 V 6 55 8 6 #K102 &ED84 V76686
& KKn75 ~E6 #1095
v E9876 v K10762 v ED92
+D7 + K764 49432
»82 *64 #Kn3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A3 A7 2v O-3 300 1280 0.0|D10 D8 3NN= #2 400 1280 0.0|Al13 Al4 INN +2 150 125.0 3.0
D3 D1 14 V-2 &3 200 117.0 11.0(D12 D2 44DO-2 ¥2 300 1250 30(H16 H1 3NO-3 T 150 1250 3.0
G6 G19 2NO-2 v7 200 117.0 11.0(H19 H7 1vDV-2 &A 300 1250 3.0 116 14 INN+2 ¢4 150 1250 3.0
A9 Al 24 V-2 200 1170 11.0| D9 D4 3¢ V-3 &7 150 1220 6.0|H17 H9 INN+2 +8 150 1250 3.0
B10 B8 24 V-2 ¢A 200 117.0 11.0| G5 G15 3v S= 49 140 1190 9.0| B2 B3 INN+1 #4 120 1110 17.0
Al2 A13 24 V-2 200 1170 110|F12 F8 3v N= 4Q 140 1190 9.0| E3 E9 INN+1 120 111.0 17.0
E14 E5 2NO-2 200 1170 110|H16 H1 1v S+1 #9 110 116.0 120| C7 Cl1 INN+1 +8 120 111.0 17.0
H14 H10 24 V-2 vJ 200 117.0 11.0| B6 Bl 44DO-1 #6 100 113.0 150 112 111 INN+1 &4 120 111.0 17.0
H16 H12 2NV-2 8 200 117.0 11.0|H14 H11 34DV-1 #K 100 1130 15.0|H13 H6 INN+1 +8 120 111.0 17.0
116 14 2NO-2 7 200 1170 110| G2 G21 44 O-1 7 50 104.0 24.0|H14 H11 INN+1 +6 120 111.0 17.0
G18 G17 INV-2 ¢8 200 1170 11.0| C3 C5 24 V-1 &A 50 1040 240(F15 F7 INN+1 8 120 111.0 17.0
C2 C6 2¢DS= vK 180 1060 22.0| G7 G20 34 O-1 #6 50 1040 24.0|Al16 A6 INN+1 120 111.0 17.0
F18 F8 3v S+1 42 170 1040 240 19 114 34 0O0-1 7 50 1040 240|F16 F11 INN+1 ¢K 120 111.0 17.0
H13 H5 2v S= 44 110 1010 27.0|E12 E13 34 V-1 50 104.0 24.0|F18 F9 INN+1 ¢8 120 111.0 17.0
Al6 A5 2v N= 110 101.0 27.0|F16 F11 24 V-1 &A 50 104.0 240 I3 15 2v S= 47 110 99.0 29.0
A2 A8 INO-1 100 83.0 450 (H17 H9 24 V-1 &A 50 1040 240(E10 E2 1v S+1 110 99.0 29.0
H3 H7 24 O-1 +J 100 83.0 450( B2 B3 2vS-1 4Q -50 90.0 38.0| Al A1l INO-2 100 94.0 34.0
16 12 1aV-1 vJ 100 83.0 450| A3 A9 3vS-1 -50 90.0 38.0| B5 B7 INV-2 +¢Q 100 94.0 34.0
C7 C1 INV-1 ¢4 100 83.0 450 A5 A7 3vS-1 -50 90.0 38.0(D11 D5 INDO-1 ¥2 100 94.0 34.0
E7 E3 24 V-1 100 83.0 45.0(G12 G9 3v S-1 49 -50 90.0 38.0| C2 C6 INN= ¢K 90 82.0 46.0
Cl10 C4 INV-1 ¢8 100 83.0 450|F14 F1 3vS-1 4Q -50 90.0 38.0| F2 F17 INN= 46 90 82.0 46.0
E10 E13 INV-1 100 83.0 45.0(G14 G10 3v S-1 49 -50 90.0 38.0| E5 E7 INN= 90 82.0 46.0
F10 F16 INV-1 ¢4 100 83.0 450(F18 F9 3vS-1 4Q -50 90.0 38.0| 16 12 INN= 8 90 82.0 46.0
All Al4 24 V-1 100 83.0 450| 16 12 INV= A -90 82.0 46.0( E8 E4 INN= 90 82.0 46.0
D11 D5 24 V-1 vJ 100 83.0 450| 13 I5 3NN-2 &3 -100 77.0 51.0(D12 D2 INN= v8 90 82.0 46.0
E1l E12 INV-1 100 83.0 450(B10 B8 4vyDS-1 49 -100 770 510(F12 F8 INN= «8 90 82.0 46.0
H11 H1 2NO-1 v6 100 83.0 450 112 111 2#N-2 ¢8 -100 77.0 51.0( 113 110 INN= &4 90 82.0 46.0
F13 F5 2NO-1 v7 100 83.0 450(A16 A6 3NS-2 -100 77.0 51.0|G14 G10 INN= v4 90 82.0 46.0
G13 G9 2#V-1 vJ 100 83.0 450 C2 C6 24 V= v8 -110 600 68.0( D7 D6 INO-1 v2 50 67.0 61.0
F15 F6 INV-1 ¢4 100 83.0 45.0| F2 F17 24 V= «A -110 600 68.0| 7 11 INV-1 #6 50 67.0 61.0
115 18 3NO-1 v6 100 83.0 450( D3 D1 24 V= #A -110 600 68.0|E11 E1 INO-1 50 67.0 61.0
D12 D2 1la V= v] -80 66.0 62.0| G4 G13 24 V= «Q -110 60.0 68.0|E12 E13 INO-1 50 67.0 61.0
E2 E8 INO= -90 53.0 750 H4 H8 24 V= «Q -110 60.0 68.0|H12 H2 24 O-1 #J 50 67.0 61.0
F2 F9 INV= +4 90 53.0 75.0| 17 11 24 V= #A -110 600 68.0|H15 H5 INO-1 #J 50 67.0 61.0
H2 H18 INO= v7 90 53.0 75.0| G8 G22 24 V= v4 -110 60.0 68.0 G4 G13 Pass 56.0 72.0
13 15 INV= ¢A 90 53.0 75.0|C10 C4 24 V= #A -110 60.0 68.0| G7 G20 Pass 56.0 72.0
F4 F3 INO= v6 -90 53.0 75.0|A12 Al15 24 O= -110 60.0 68.0|G12 G9 Pass 56.0 72.0
G4 G14 INV= +8 90 53.0 75.0|F13 F6 24 V= «Q -110 60.0 68.0| 115 18 Pass 56.0 72.0
B5 B7 INV= *4 -90 53.0 75.0(H13 H6 2v V= v3 -110 60.0 68.0|G18 G6 Pass 56.0 72.0
17 11 INO= v7 90 53.0 75.0| 115 18 24 V= #A -110 60.0 68.0| A3 A9 INV= 90 49.0 79.0
E9 E1 INV= -90 53.0 75.0|G17 G16 24 O= v6 -110 60.0 68.0( 19 114 INO= L) 90 49.0 79.0
F14 F12 INV= *4 -90 53.0 750 B5 B7 INV+l1 &7 -120 46.0 820| F3 F10 INN-1 ¢6 -100 38.0 90.0
H15 H4 INV= +8 -90 53.0 75.0| Al All 24 V+1 -140 310 97.0| G3 G11 2vS-1 T -100 38.0 90.0
F17 F1 INV= +4 90 53.0 75.0| F3 F10 24 V+1 &#A -140 31.0 970 A4 A8 2v S-1 -100 38.0 90.0
B2 B3 2¢vS-1 #9 -100 350 93.0| G3 G11 24 V+1 #K -140 310 970| F5 F4 INN-1 43 -100 38.0 90.0
C3 C5 2vS-1 42 -100 350 93.0| A4 A8 34 0= -140 310 97.0| G8 G22 INN-1 46 -100 38.0 90.0
A4 A6 2v S-1 -100 35.0 93.0| E5 E7 24 O+1 -140 310 97.0|F13 F6 14 N-1 #8 -100 38.0 90.0
D7 D6 2¢ N-1 «Q -100 350 93.0|H10 H20 24 V+1 &A -140 31.0 97.0|F14 Fl1 2NS-1 T -100 38.0 90.0
112 111 2¢ N-1 4Q -100 350 93.0(D11 D5 24 V+1 &A -140 31.0 97.0|G17 G16 2NN-1 ¢4 -100 38.0 90.0
H17 H8 2vS-1 A -100 350 93.0|E1l1 E1 24 O+1 -140 310 97.0|H19 H7 INN-1 48 -100 38.0 90.0
G3 G12 24 V= vJ] -110 22.0 106.0 |H12 H2 24 V+1 &A -140 31.0 97.0| G2 G21 14 V+1l +Q -110 19.0 109.0
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E4 E6 1a V+1 -110 22.0 106.0| 113 110 24 V+1 &A -140 31.0 970| C3 C5 3#0= T -110 19.0 109.0
G5 G16 24 V= vJ] -110 22.0 106.0 [E14 E6 24 O+1 -140 31.0 97.0| A5 A7 24 O= -110  19.0 109.0
D9 D4 24 V= ¢9 -110 22.0 106.0 (H15 H5 34 O= #6 -140 310 97.0| G5 G15 24 V= ¢T -110 19.0 109.0
D10 D8 24 V= v] -110 22.0 106.0| 116 14 24 O+1 &6 -140 31.0 97.0(B10 B8 24 V= vK -110 19.0 109.0
113 110 24 V= vJ] -110 22.0 106.0 |G18 G6 34 O = #6 -140 310 97.0|C10 C4 24 V= ¢Q -110 19.0 109.0
G15 G10 2#V+1 ¢4 -110 22.0106.0| E3 E9 INV+2 -150 16.0 112.0|D10 D8 24 V= v5 -110 19.0 109.0
G7 G21 INO+1 +7 -120 14.0 1140| F5 F4 24 V+2 &K -170 13.0 115.0 |[H10 H20 24 V= ¢K -110 19.0 109.0
H20 H9 2NO+1 6 -150 12.0 116.0 |A13 Al4 24 V +2 -170 13.0 115.0 |A12 Al5 14 V +1 -110  19.0 109.0
19 114 2NV +2 ¢A -180 10.0 1180| E8 E4 INDV= -180 10.0 118.0 |E14 E6 24 V= -110  19.0 109.0
B6 Bl 3vS-2 &A -200 7.0 121.0| C7 Cl 4¢vDS-2 «Q -300 6.0 122.0| D3 D1 INN-2 &3 -200 6.0 122.0
F11 F7 24 N-2 «Q -200 7.0 121.0| D7 D6 4vDS-2 «Q -300 6.0 122.0| H4 H8 INN-2 +8 -200 6.0 122.0
G2 G22 3#N-4 «Q -400 4.0 124.0 (H18 H3 4vDS-2 #9 -300 6.0 122.0|H18 H3 2vS-2 +v3 -200 6.0 122.0
H6 H19 3vDS-2 «A -500 2.0 126.0 |E10 E2 24DO= -470 2.0 126.0| D9 D4 24 N-3 ¢K -300 2.0 126.0
Gll1 G8 2vDS-3 vK -800 0.0 128.0 (F15 F7 24DO+1 &6 -570 0.0 128.0( B6 Bl INRDN-1#4  -400 0.0 128.0
- G20 53.3 - G19 65.3 - G19 65.3
- B4 65.1 - B4 65.1 - B4 65.1
- C8 63.0 - C8 63.0 - C8 63.0
Al5 - 67.0 - A2 69.7 - A2 69.7
13 487 Basta kontrakt 14 4103 Basta kontrakt 15 4 EK3 Basta kontrakt
Nord v K73 44 N =620 Ost v EKn964 5NT O =-460 Syd v EKn762 44 V D -3 500
Alla + DKn10972 Ingen + 8763 NS *2
92 & ¢ v & NT *K6 & ¢ v & NT #ED52 ¢ v & NT
4954 4103 N 7 108 109 49876 4 EKD42 N266 22 .- «4DKn109854 N 6 6 9 6 9
v D85 vKn1064 S 7 108 109 vD1032 vK S266 22 v KD543 v- S76 9509
+83 ¢ E654 06 2523 ¢+ E10 + K4 O 116 7 1111 ¢ 754 ¢ KDKn8 06 6 47 4
#D8654 #EKn10 V62523 &E52 #Kn10987 V 116 7 1111 #Kn10864 #K7 V66474
& EKDKn62 & Kn5 4762
vE92 v 875 v 1098
+ K + DKn952 + E10963
*K73 »D43 #93
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
D4 D2 3NN+3 ¢4 690 1280 00| B3 B4 64 0O0-1 ¢Q 50 126.0 20| A3 Al13 4¢vDN= 790 128.0 0.0
F1 F9 44 S+2 ¢8 680 1150 130 C4 C6 64 V-1 ¢8 50 1260 20| D4 D2 3NS= «J 600 1250 3.0
H1 H3 44 S+2 +8 680 1150 13.0| 113 112 64 O-1 ¢Q 50 126.0 2.0(D12 D3 3NN= «Q 600 1250 3.0
G2 G20 44 S+2 ¢6 680 1150 13.0| B6 B8 3¢ S-1 48 -50 122.0 6.0| G6 G16 44D O-3 #9 500 121.0 7.0
H7 H13 44 S+2 8 680 1150 13.0|A13 Al INO+1 -120 1200 8.0| E7 E9 54DO-3 500 121.0 7.0
H8 H19 44 S+2 ¢5 680 1150 13.0|C10 C5 24 O+3 ¢2 -200 116.0 12.0( H1 H14 44D O-2 #9 300 96.0 32.0
G9 G11 44 S+2 ¢3 680 1150 130|114 111 24 O+3 ¢Q -200 116.0 120| H2 H4 44DO-2 &9 300 96.0 32.0
I10 115 44 S+2 ¢8 680 1150 13.0(G16 G15 34 O+2 v8 -200 116.0 12.0| B3 B4 44DO-2 ¥T 300 96.0 32.0
H11 H20 44 S+2 ¢8 680 115.0 13.0| 14 16 44 O= ¢2 -420 107.0 21.0| C3 C7 44DO-2 vT 300 96.0 32.0
E14 E7 44 S+2 680 1150 13.0| F7 F13 44 O= v8 -420 107.0 21.0| G4 G11 44DO-2 #9 300 96.0 32.0
114 111 44 S+2 ¢8 680 1150 13.0( 110 115 44 O= ¢+Q -420 107.0 21.0| A5 All 44DO-2 300 96.0 32.0
G16 G15 44 S+2 48 680 115.0 13.0|H11 H20 44 O= ¢Q -420 107.0 21.0| F5 F12 44DO-2 ¢A 300 96.0 32.0
F18 F10 44 S+2 ¢8 680 1150 13.0(F15 F8 44 O= ¢Q -420 107.0 21.0| G5 G13 44D 0O-2 #9 300 96.0 32.0
D1 D10 44 S+1 &5 650 83.0 45.0|H18 H4 44 O= ¢+Q -420 107.0 210 A7 A9 34DO-2 300 96.0 32.0
11 19 464 S+1 &4 650 83.0 450| B1 B10 44 O+1 ¢Q -450 ©61.0 670 B7 B2 44DO-2 ¥T 300 96.0 32.0
G4 G12 44 S+1 &8 650 83.0 450| F1 F9 44 O+1 8 -450 61.0 67.0| 17 13 44DO-2 T 300 96.0 32.0
14 16 44 S+1 &5 650 83.0 45.0| 11 19 44 O+1 &3 450 610 67.0| D8 D7 44DO-2 ¢A 300 96.0 32.0
A5 A9 4es S +1 650 83.0 45.0| A2 Al2 44 O+1 -450 61.0 67.0| 18 12 44DO-2 ¥T 300 96.0 32.0
G5 G14 44 S+1 v5 650 83.0 45.0| G2 G20 44 O+1 ¢5 -450 61.0 67.0| H9 H19 44DO-2 ¥T 300 96.0 32.0
H5 H9 44 S+1 #4 650 83.0 45.0| C3 C7 44 O0+1 ¢Q -450 610 67.0|C10 C5 44DO-2 #9 300 96.0 32.0
A6 A8 44 S +1 650 83.0 45.0| G3 G22 44 O+1 ¢Q -450 61.0 67.0|E13 E3 44DO-2 300 96.0 32.0
F6 F5 44 S+1 v5 650 83.0 45.0| D4 D2 44 O+1 ¢Q -450 61.0 67.0|H13 H8 44DO-2 ¢A 300 96.0 32.0
G6 G17 44 S+1 v5 650 83.0 45.0( E4 E10 44 O+1 -450 61.0 67.0| 114 111 34DO-2 vT 300 96.0 32.0
C8 C2 54 S= 9 650 83.0 450| F4 F11 44 O+1 ¢Q -450 61.0 67.0(H15 H7 44DO-2 ¥T 300 96.0 32.0
G8 G21 44 S+1 &4 650 83.0 450| G4 G12 44 O+1 +Q -450 ©61.0 67.0 Al6 A8 44DO-2 300 96.0 32.0
All A3 44 S+1 650 83.0 450| A5 A9 44 O+1 -450 61.0 67.0|H17 H11 44DO-2 ¥8 300 96.0 32.0
D11 D6 44 S+1 &8 650 830 450| H5 H9 44 O+1 ¢Q -450 61.0 67.0(H18 H5 44DO-2 ¥v9 300 96.0 32.0
Al3 Al 44 S+1 650 83.0 45.0| A6 A8 44 O+1 -450 61.0 67.0|G19 G2 44DO-2 ¥T 300 96.0 32.0
G13 G10 44 S+1 8 650 83.0 450 G6 G17 44 O+1 ¢Q -450 61.0 67.0| E5 E11 44 O-3 150 72.0 56.0
H14 H12 44 S+1 &6 650 83.0 450| B7 B2 44 O+1 ¢Q -450 61.0 67.0(Al15 Al 2v N+1 140 70.0 58.0
Al6 A7 44 S+1 650 83.0 45.0| H7 H13 44 O+1 ¢Q -450 61.0 67.0| F2 F10 34 O-2 T 100 60.0 68.0
H18 H4 44 S+1 &6 650 83.0 450| 17 I3 44 O+1 ¢Q -450 61.0 67.0| G3 G21 34DO-1 #9 100 60.0 68.0
G19 G7 44 S+1 &5 650 83.0 450| C8 C2 44 O+1 ¢Q -450 61.0 670| C4 C6 44DO-1 ¥T 100 60.0 68.0
Bl B10 4NS= +8 630 56.0 72.0| D8 D7 44 O+1 8 -450 61.0 670| 14 16 34DO-1 T 100 60.0 68.0
C3 C7 3NS+1 &6 630 56.0 72.0| G8 G21 44 O+1 +Q -450 61.0 67.0| G7 G18 34D O-1 #9 100 60.0 68.0
E4 E10 3NS+1 630 56.0 72.0| H8 H19 44 O+1 +¢Q -450 61.0 67.0| 110 115 34D O-1 ¥8 100 60.0 68.0
D12 D3 3NS+1 &5 630 56.0 720| 18 12 44 O+1 v7 -450 61.0 67.0(F14 F3 34 0-2 T 100 60.0 68.0
E13 El1 3NS+1 630 56.0 720 D9 D5 44 O+1 45 -450 61.0 67.0(F15 F9 34DO-1 #9 100 60.0 68.0
Al4 A15 3NN +1 630 56.0 720 E9 E5 44 O+1 -450 610 67.0| 116 15 34 O0-2 T 100 60.0 68.0
F17 F3 3NS+1 &5 630 56.0 72.0| G9 G11 44 O+1 8 -450 61.0 67.0| H6 H1I0 24 O-1 T 50 44.0 84.0
A2 Al12 44 N= 620 42.0 86.0|All A3 44 O+1 -450 610 67.0| F7 F6 24 O-1 T 50 44.0 84.0
G3 G22 44 S= &4 620 42.0 86.0|D11 D6 44 O+1 v8 -450 610 670 C8 C2 34 0-1 &9 50 44.0 84.0
F7 F13 44 S= v5 620 42.0 86.0|E12 E2 44 O+1 -450 610 67.0| F8 F13 24 O-1 T 50 44.0 84.0
E12 E2 44 S= 620 42.0 86.0|E13 E1 44 O+1 -450 61.0 67.0|E10 E6 34 O-1 50 44.0 84.0
113 112 44 S= &5 620 42.0 86.0|G13 G10 44 O+1 #4 -450 61.0 67.0(D11 D6 34 O-1 T 50 44.0 84.0
H16 H2 44 S= v5 620 42.0 86.0 |A14 Al5 44 O +1 -450 61.0 67.0|F17 F4 34 0O-1 T 50 44.0 84.0
116 15 44 S= +8 620 420 86.0|F14 F2 44 O+1 ¢9 -450 610 670| D1 D10 4v N-1 «Q -100 340 94.0
B3 B4 3NS= *4 600 31.0 97.0|H14 H12 44 O+1 ¢Q -450 61.0 67.0|F11 F18 3NN-1 4Q -100 34.0 94.0
E6 E8 3NS= 600 31.0 97.0|H15 H6 44 O+1 7 -450 61.0 67.0|G20 G8 3NN-1 4Q -100 34.0 94.0
D8 D7 3NS-= +4 600 31.0 97.0|Al6 A7 44 O+1 -450 61.0 67.0| 11 19 24 O= 9 -110 24.0 104.0
F15 F8 3NS= +4 600 31.0 97.0|F16 F12 44 O+1 ¢Q -450 61.0 67.0|/Al2 A4 24 O= -110 24.0 104.0
C4 C6 14 S+5 8 230 23.0 105.0 |H16 H2 44 O+1 ¢Q -450 61.0 67.0|E12 E4 24 O= -110 24.0 104.0
Cl10 C5 24 S+4 ¢8 230 23.0 105.0 |F17 F3 44 O+1 ¢2 -450 61.0 67.0| 113 112 24 O= 9 -110 24.0 104.0
F14 F2 34 S+3 ¢8 230 23.0 105.0|G19 G7 44 O+1 ¢Q -450 ©61.0 67.0(E14 E8 3#V-= -110 24.0 104.0
H17 H10 24 S+4 ¢8 230 23.0 105.0| D1 D10 44 O+2 ¢Q -480 10.0 118.0|G15 G14 24 O= 9 -110 24.0 104.0
17 13 34 S+2 v5 200 15.0 113.0| H1 H3 44 O+2 ¢Q -480 10.0 118.0|F16 Fl1 24 O= vT -110 24.0 104.0
D9 D5 34 S+2 #4 200 15.0 113.0( G5 G14 44 O+2 7 -480 10.0 118.0|G10 G12 24 O+1 T -140 16.0 112.0
E1l E3 14 S+4 200 15.0 113.0| E6 E8 44 O +2 -480 10.0 118.0| B6 B8 5v N-2 ¢K -200 13.0 115.0
H15 H6 34 S+2 &6 200 15.0 113.0| F6 F5 44 O+2 8 -480 10.0 118.0|H20 H12 4v N-2 «Q -200 13.0 115.0
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B7 B2 24 S+2 v5 170 9.0 119.0 [E11 E3 44 O +2 -480 10.0 118.0| D9 D5 4vDN-2 ¢K -500 8.0 120.0
18 12 24 S+2 ¢8 170 9.0 119.0 [D12 D3 44 O+2 ¥5 -480 10.0 118.0| G9 G22 4vyDN-2 K -500 8.0 120.0
F4 F11 44 S-1 v5 -100 5.0 123.0 [E14 E7 44 O+2 -480 10.0 118.0 |H16 H3 5¢vDN-2 «Q -500 8.0 120.0
F16 F12 44 S-1 v5 -100 5.0123.0( 116 15 44 O+2 +Q -480 10.0 118.0| B1 B10 5¢DN-3 ¢K -800 2.0 126.0
B6 B8 6NDS-1 &6 -200 1.0 127.0 |H17 H10 44 O+2 8 -480 10.0 118.0| E1 E2 5¢vDN-3 -800 2.0 126.0
E9 E5 6¢ N-2 -200 1.0 127.0 |F18 F10 44 O+2 +Q -480 10.0 118.0|A14 A2 3vDN-3 -800 2.0 126.0
Cl - 51.8 Cl - 51.8 C1l - 51.8
A4 - 52.6 A4 - 52.6 A6 - 60.5
- B5 45.7 - B5 45.7 - B5 45.7
G18 - 57.7 G18 - 57.7 G17 - 49.9
16 & EKn42 Basta kontrakt 17 & Kn1052 Basta kontrakt 18 4432 Basta kontrakt
Vast v10 34 N =140 Nord v KD7543 4¢ O =-130 Ost v E9532 24 O =-110
ov + DKn7 Ingen + Kn NS + K43
#D10763 & ¢ v & NT »74 & ¢ v & NT &D3 & ¢ v & NT
& D7 #1053 N8 4995 4ED96 484 N4 3 4505 4ED8 #4Knl075 N56 756
vED643 ¢8 S849 9 4 vE1096 v¥82 S 43455 vKDKn ¢107 S57756
+ 86 ¢EK109432 O 4 9 4 3 8 +92 ¢+ ED6543 O 9 108 8 8 ¢ED5 #1096 O86 586
#KB852  #Kn9 V49 438 &ED8 #Kn109 V 9 108 8 8 #8642 #K975 V86 6 87
& K986 4 K73 & K96
v KKn9752 vKn v 864
+5 + K1087 ¢+ Kn872
&E4 #K6532 &EKN10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D7 D11 3NDV-4 &3 1100 1280 0.0( C5 C7 4vDV-3 ¢J 500 1280 0.0 G8 G19 3NV -4 v3 200 128.0 0.0
H2 H4 3vDS= ¢8 530 126.0 20| E2 E3 3NV-3 150 123.0 50| C5 C7 3NV-3 v3 150 122.0 6.0
19 13 5¢DO-2 &A 500 1240 4.0| F4 F14 3NV -3 5 150 123.0 5.0(C10 C6 3NV-3 v5 150 122.0 6.0
18 14 44 N+1 ¢A 450 1220 6.0(E13 E5 3NO-3 150 123.0 5.0(A16 A9 2NV-3 150 1220 6.0
E12 E4 3NN+1 430 1200 8.0|H16 H4 3NV-3 v5 150 123.0 5.0 (H17 H12 1INV -3 v3 150 122.0 6.0
B4 B5 44 S= +8 420 117.0 11.0( B2 B10 3NV-2 v4 100 109.0 19.0(G21 G9 3NV-3 42 150 122.0 6.0
G5 G13 44 N= ¢A 420 117.0 11.0( B4 B5 2NV-2 v4 100 109.0 19.0( D1 D8 3v N= &K 140 116.0 12.0
G4 G11 2v V-2 vT 200 112.0 16.0( I5 17 3NV-2 v3 100 109.0 19.0(F18 F12 INS+1 vK 120 114.0 14.0
D5 D3 3¢DO-1 #A 200 112.0 16.0| G6 G15 3NV -2 vK 100 109.0 190( E1 E4 INV-2 100 101.0 27.0
Al2 A4 3¢DO-1 200 112.0 16.0 (G10 G11 3NO-2 #3 100 109.0 19.0| B2 B10 2NV -2 v2 100 101.0 27.0
A7 A9 24 N +2 170 106.0 22.0(H14 H2 3NDV-1 vQ 100 109.0 19.0( A4 Al4 1INV -2 100 101.0 27.0
E7 E9 34 N+1 170 106.0 22.0( 114 113 3NV-2 &7 100 109.0 19.0( B4 B5 1INV-2 v2 100 101.0 27.0
Al5 Al 34 S+1 170 106.0 22.0|F16 F2 3NV-2 v4 100 109.0 19.0f C4 C8 2NV-2 vA 100 101.0 27.0
E1l E2 34 S= 140 940 34.0|F17 F5 3NV-2 «J 100 109.0 19.0( F4 F14 1INV -2 v5 100 101.0 27.0
B2 B10 34 S= +3 140 940 34.0|F18 F12 3NV-2 v4 100 109.0 19.0( D5 D3 1INV-2 v2 100 101.0 27.0
C2 Cl1l 3vS= +8 140 940 340| A1 A2 3NV-1 50 87.0 410| G6 G15 1INV -2 v3 100 101.0 27.0
C4 C8 34 N= ¢A 140 940 340| E1 E4 3NV-1 50 87.0 41.0| D7 D11 1INV-2 v2 100 101.0 27.0
G6 G16 34 S= ¢+6 140 940 34.0| D2 D10 4¢ O-1 vJ 50 87.0 41.0|E11 E7 1INV-2 100 101.0 27.0
E10 E6 34 S= 140 940 340| H3 H5 3NV-1 a2 50 87.0 41.0(H14 H2 1INV-2 v3 100 101.0 27.0
F16 Fl1 34 S= +8 140 940 34.0| B7 Bl 3NO-1 ¢3 50 87.0 41.0|G20 G3 1INV-2 v2 100 101.0 27.0
H16 H3 24 N+1 ¥8 140 940 34.0| H7 H11 3NV-1 v4 50 87.0 41.0| C2 C1 INS= &6 90 88.0 40.0
G19 G2 24 S+1 ©vA 140 940 340| D9 D6 3NV-1 v3 50 87.0 410 E2 E3 1INV-1 50 67.0 61.0
G3 G21 24 S= +8 110 82.0 46.0( H9 H13 3NV-1 v3 50 87.0 41.0| H3 H5 1INV-1 v3 50 67.0 61.0
D9 D6 24 N= ¢A 110 820 46.0| 19 I3 3NV-1 v3 50 87.0 41.0| G4 G22 1INV-1 v2 50 67.0 61.0
H20 H12 14 N+1 ¢A 110 82.0 46.0|C10 C6 3NV-1 vK 50 87.0 41.0| G5 G12 1INV-1 v2 50 67.0 61.0
15 17 3¢ O-1 &A 100 73.0 55.0|A15 A3 3NV-1 50 87.0 41.0 I5 17 INV-1 v2 50 67.0 61.0
F7 F6 3¢ O-1 ¢5 100 73.0 55.0|G18 G2 3NV-1 vK 50 87.0 41.0| A6 Al12 INV-1 50 67.0 61.0
G7 G18 3¢ O-1 #A 100 73.0 55.0| C4 C8 INV= vK -90 73.0 55.0( B7 Bl 1INV-1 a4 50 67.0 61.0
D12 D4 2¢ O-1 46 100 73.0 55.0|G14 G13 INO= &2 90 73.0 55.0| F8 F7 1INV-1 v2 50 67.0 61.0
F15 F9 2¢ O-1 48 100 73.0 55.0| G5 G12 3vy N-2 38 -100 67.0 61.0| H8 H15 INV-1 v3 50 67.0 61.0
H18 H5 4¢ O-1 #A 100 73.0 55.0| A7 A1l 24 S-2 -100 67.0 61.0 I8 14 INV-1 v3 50 67.0 61.0
G10 G12 24 N= v8 90 66.0 62.0 |H17 H12 2v N-2 &J -100 67.0 61.0| H9 H13 1INV-1 v2 50 67.0 61.0
A3 Al3 44 N-1 -50 52.0 76.0(G21 G9 2v N-2 &J -100  67.0 61.0|{A13 A5 INV-1 50 67.0 61.0
F5 F12 44 S-1 +8 -50 52.0 76.0| D5 D3 3¢ O= vJ -110 57.0 71.0(E13 E5 1laV-1 50 67.0 61.0
H6 H10 44 S-1 vA -50 52.0 76.0| E6 E12 3¢ O= -110 57.0 71.0|G14 G13 1INV-1 v2 50 67.0 61.0
B8 B3 44 N-1 ¢A -50 52.0 76.0| F8 F7 3¢ O= vJ -110 57.0 71.0| 114 113 INV-1 v2 50 67.0 61.0
F8 F13 3v S-1 +6 -50 52.0 76.0|E14 E9 3¢ O= -110 57.0 71.0|A15 A3 2NV-1 50 67.0 61.0
Cl0 C6 44 S-1 +8 -50 52.0 76.0|H18 H6 3¢ O= vJ -110 57.0 71.0|F15 F10 2NV-1 v2 50 67.0 61.0
111 11 24 N-1 v8 -50 52.0 76.0|H19 H10 2¢ O+1 &3 -110 57.0 71.0|H16 H4 1INV-1 v3 50 67.0 61.0
H13 H8 34 S-1 +8 -50 52.0 76.0( D1 D8 2NV= v4 -120 46.0 82.0| 116 16 1INV-1 v3 50 67.0 61.0
F14 F3 2NN-1 +K -50 52.0 76.0| G4 G22 INO+1 %3 -120  46.0 82.0|H18 H6 1INV-1 v3 50 67.0 61.0
114 113 44 N-1 *A -50 520 76.0( I8 14 INV+1l v5 -120 46.0 82.0| E8 E10 1aV= -70  45.0 83.0
H15 H7 44 N-1 ¢ A -50 520 76.0( 111 11 INV+1l 3 -120 46.0 82.0|F17 F5 1aV-= vA -70  45.0 83.0
116 16 44 N-1 v8 -50 52.0 76.0(D12 D4 2NV= a2 -120  46.0 82.0 12 110 INV= v2 -90 31.0 97.0
F17 F4 34 N-1 *A -50 520 76.0| B8 B3 34 S-3 +9 -150 37.0 91.0| F3 F11 INV= v2 -90 31.0 97.0
D1 D8 44 N-2 ¢K -100 350 93.0|F13 F9 2NV+1 vQ -150 37.0 91.0| A7 All 2 V= -90 31.0 97.0
H1 H14 3vDS-1 +¢6 -100 35.0 93.0|A16 A9 3v N-3 -150 37.0 91.0| H7 H11 14V +1l #4 -90 31.0 97.0
F11 F18 2¢vyDS-1 +38 -100 35.0 93.0|G20 G3 3v N-3 ¢A -150 37.0 91.0| B8 B3 INV= v2 -90 31.0 97.0
E13 E3 44 N-2 -100 35.0 93.0| A4 Al4 3v N-4 -200  32.0 96.0 19 13 INV= v2 -90 31.0 97.0
D2 D10 2¢ O+1 46 -110 23.0 105.0( 12 110 3NV= v3 -400 18.0 110.0 (G10 G11 2« V= a2 -90 31.0 97.0
12 110 3¢ O= &#A -110 23.0 105.0| F3 F11 3NV= vyK -400 18.0 1100|111 11 INV= v2 -90 31.0 97.0
A5 All 3¢ O= -110 23.0 105.0( F6 F1 3NV= vK -400 18.0 110.0|D12 D4 1 V+1l v2 -90 31.0 97.0
E5 E11 3¢ O= -110 23.0 105.0| D7 D11 3NV= vK -400 18.0 110.0|E14 E9 INV= -90 31.0 97.0
Al4d A2 3¢ O= -110  23.0 105.0| G7 G17 3NV = vK -400 18.0 110.0|G18 G2 1INV= v2 -90 31.0 97.0
E14 E8 3¢ O= -110 23.0 105.0| E8 E10 3NV = -400 18.0 110.0 |H19 H10 2# V= vA -90 31.0 97.0
G15 G14 3¢ O= &#A -110 23.0 105.0| H8 H15 3NV = vyK -400 18.0 110.0|F16 F2 INS-1 &4 -100 17.0 111.0
Al6 A8 3¢ O= -110 23.0 105.0 (E11 E7 3NV= -400 18.0 110.0 ([H20 H1 2v N-1 &5 -100 17.0 111.0
F2 F10 3¢ O+1 &A -130 12.0 116.0|A13 A5 3NV= -400 18.0 110.0| A1 A2 1aV+2 -110 10.0 118.0
115 112 2¢ O+2 #A -130 12.0 116.0 |F15 F10 3NV = a5 -400 18.0 110.0| E6 E12 14V +2 -110 10.0 118.0
H17 H11 2¢ O+2 &A -130 12.0 116.0| 115 112 3NV = vK -400 18.0 1100| F6 Fl1 1aV+2 &4 -110 10.0 118.0
G9 G22 34 N-3 v8 -150 8.0 120.0| 116 16 3NV = vyK -400 18.0 110.0| G7 G17 3#V = vA -110 10.0 118.0
B7 B1 INO+3 2 -180 6.0 122.0|H20 H1 3NV= vyK -400 18.0 1100|F13 F9 1V +2 43 -110 10.0 118.0
H9 H19 3vDS-2 +¢8 -300 3.0 125.0| C2 C1 4NV= s -430 4.0 124.0| D2 D10 INV+1 #2 -120 3.0 125.0
G20 G8 44DN-2 ¢A -300 3.0 125.0| A6 A12 3vyDN-3 -500 1.0 127.0| 115 112 INV+1 v2 -120 3.0 125.0
C5 C7 2¢DO+2 A -580 0.0 128.0| G8 G19 3NDS-3 46 -500 1.0 127.0| D9 D6 2v N-3 & -300 0.0 128.0
A6 - 60.5 A8 - 71.7 A8 - 71.7
- B6 53.9 - B6 53.9 - B6 53.9
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- C3 64.7 - C3 64.7 - C3 64.7
G17 - 49.9 G16 - 65.3 G16 - 65.3
19 4 Kn983 Basta kontrakt 20 4 K7 Basta kontrakt 21 4987 Basta kontrakt
Syd v EK1082 34 S =140 Vast v Kn1084 3v S =140 Nord vKn72 3v O =-140
ov + 86 Alla + EK984 NS + Kn1086
D8 & ¢ v o NT *94 & ¢ v o NT #984 & ¢ v & NT
K105 «D64 N8 6 8838 & Kn32 4 E1098 N7 987 8 4 K43 462 N46 374
vKn7 v D643 S87 998 v D976 v53 S78978 v 543 v EK986 S 46374
¢ E9743 ¢ Kn102 O56 445 +5 + D10732 O6 4455 +95 ¢ D742 087 9 6 8
&E92 &Kn75 V56445 #Knl0753 &E8 V64455 #ED652 &K7 V87 96 8
& E72 « D654 & EDKn105
v 95 v EK2 vD10
+ KD5 + Kn6 ¢ EK3
#K10643 #KD62 #Kn103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D12 D5 3NS= +3 400 1280 00| F7 F2 3NN+2 ¢2 660 1280 00| C6 C8 34 S= +9 140 126.0 2.0
H5 H16 3¢ V-2 vA 200 125.0 3.0| B1 B4 3NN= +2 600 117.0 11.0| D8 D11 24 S+1 9 140 126.0 2.0
G9 G20 3¢DV-1 vA 200 125.0 3.0| E3 E4 3NN= 600 117.0 11.0| A9 Al1l3 34 S= 140 126.0 2.0
G7 G16 2NS+2 ¢3 180 1220 6.0| D6 D4 3NS= &J 600 117.0 11.0| E3 E6 24 S= 110 120.0 8.0
B5 B6 2vy N+2 ¢J 170 1200 8.0| G8 G18 3NS= v6 600 117.0 11.0| H9 H1l 24 S= +9 110 120.0 8.0
E3 E4 INS+2 150 115.0 13.0| H8 H12 3NS= &6 600 117.0 110 110 14 24 S= v3 110 120.0 8.0
F4 F12 2NS+1 3 150 115.0 13.0| A9 All 3NS= 600 117.0 11.0| C3 C2 4vyDO-1 ¢A 100 114.0 14.0
A7 A13 INS+2 150 115.0 13.0|E12 E8 3NN= 600 117.0 11.0| A6 Al 3v O-2 100 114.0 14.0
H13 H10 INS+2 ¢4 150 115.0 13.0|H15 H9 3NS= &J 600 117.0 11.0| G8 G17 3v O-2 #J 100 114.0 14.0
G5 G11 2v N+1 &6 140 109.0 19.0|H18 H7 3NN= v5 600 117.0 11.0| G2 G16 4v O-1 ¢K 50 106.0 22.0
F7 F2 2v N+1 &4 140 109.0 19.0|G21 G4 3NN= &A 600 117.0 11.0| A3 A4 3v0O-1 50 106.0 22.0
E1l E6 3#S+1 130 105.0 23.0( 13 111 2NS+1 +3 150 106.0 22.0 |[E10 E12 4v O-1 50 106.0 22.0
110 14 24 S+2 ¢A 130 105.0 23.0| B3 B10 2v N= ¢+2 110 104.0 24.0|Al15 A7 4vO-1 50 106.0 22.0
H4 H6 2NS= +3 120 98.0 30.0( C1 C4 3NS-1 &5 -100 66.0 620|F18 F2 3vO-1 &J 50 106.0 22.0
A5 A15 INS+1 120 98.0 30.0| E1 E6 3NN-1 -100 66.0 62.0| G7 G15 34 S-1 v3 -100 99.0 29.0
A8 Al2 2NS= 120 98.0 30.0( 11 113 3NN-1 T -100 66.0 62.0(Cl10 C7 24 S-1 9 -100 99.0 29.0
112 12 2NS= a5 120 98.0 30.0( D2 D1 3NS-1 3 -100 66.0 62.0| E8 E1 2vO= -110 96.0 32.0
G19 G3 INS+1 ¢4 120 98.0 30.0| E2 E5 3NN-1 -100 66.0 62.0| B1 B4 3vO= &J -140 63.0 65.0
Al A4 24 N= 110 81.0 47.0( H4 H6 2NS-1 v6 -100 66.0 620 C1 C4 3vO= ¢K -140 63.0 65.0
Bl B4 2v N= +J 110 81.0 47.0| A5 A15 3NN-1 -100 66.0 62.0| 11 113 3vO= ¢K -140 63.0 65.0
Cl C4 2vy N= ¢J 110 81.0 47.0| B5 B6 INS-1 43 -100 66.0 62.0| A2 A5 2v O+1 -140 63.0 65.0
A2 A3 2y N= 110 81.0 47.0| G5 G11 3NN-1 48 -100 66.0 620 D2 D1 3v O= ¢A -140 63.0 65.0
B3 B10 24 N= +J 110 81.0 47.0| H5 H16 3NS-1 v6 -100 66.0 620 E2 E7 3vO= -140 63.0 65.0
H3 H14 24 S+1 7 110 81.0 47.0| G6 G14 3NN-1 ¢2 -100 66.0 62.0| H2 H17 3v O= ¢K -140 63.0 65.0
G8 G18 2v N= a4 110 81.0 47.0| 16 18 3NS-1 2 -100 66.0 62.0| D3 D10 3v O= &T -140 63.0 65.0
H8 H12 34 S= T 110 81.0 47.0| A7 A13 3NN-1 -100 66.0 62.0| E4 E5 3vO= -140 63.0 65.0
19 5 1v N+1 ¢J 110 81.0 47.0| E7 E13 3NS-1 -100 66.0 62.0| B5 B6 2vy O+1 A -140 63.0 65.0
G13 G12 24 N= +J 110 81.0 47.0| A8 A12 3NN-1 -100 660 62.0| F5 F1 2vO+1 ¢A -140 63.0 650
F17 F6 24 N= +J 110 81.0 47.0| D8 D11 3NS-1 3 -100 66.0 620| H5 H7 3vO= EN] -140 63.0 65.0
G21 G4 2v N= ¢2 110 81.0 47.0| E9 E11 3NN-1 -100 66.0 62.0| D6 D4 3v O= ¢K -140 63.0 65.0
11 113 2¢ V-1 vA 100 68.0 60.0f F9 F8 3NS-1 &J -100 66.0 62.0| G6 G13 3v O = ¢A -140 63.0 65.0
E2 E5 INS= 90 62.0 66.0( G9 G20 3NS-1 «5 -100 66.0 620| 16 18 3vO= ¢A -140 63.0 65.0
16 18 INS= +3 90 62.0 66.0( 19 15 3NS-1 5 -100 66.0 620| F8 F3 3vO= ¢A -140 63.0 65.0
E12 E8 INS= 90 62.0 66.0( 110 14 3NN-1 48 -100 66.0 620(F10 F9 3v O= ¢A -140 63.0 65.0
Al4 A6 INS= 90 62.0 66.0(D12 D5 3NN-1 ¢4 -100 66.0 62.0(H10 H15 2v O+1 4A -140 63.0 65.0
116 17 INS= +4 90 62.0 66.0( 112 12 3NN-1 48 -100 66.0 62.0(G12 G11 2y O+1 &J -140 63.0 65.0
D2 D1 2¢vy N-1 ¢J -50 39.0 89.0(F13 F10 3NS-1 3 -100 66.0 620|112 12 2vO+1 4A -140 63.0 65.0
C3 C2 24 N-1 ¢J -50 39.0 89.0(G13 G12 3NS-1 »J -100 66.0 62.0(E13 E9 2v O+1 -140 63.0 65.0
D3 D10 3v S-1 ¢ A -50 39.0 89.0(Al14 A6 3NN-1 -100 66.0 62.0|F13 F11 3v O = 4A -140 63.0 65.0
I3 111 2N S-1 +3 -50 39.0 89.0( 115 114 3NS-1 v6 -100 66.0 62.0(H14 H4 3v O= ¢A -140 63.0 65.0
E7 E13 2v N-1 -50 39.0 89.0(F16 F3 3NS-1 «5 -100 66.0 62.0|Al16 All 3v O= -140 63.0 65.0
B8 B2 3#S-1 vJ -50 39.0 89.0| 116 17 3NN-1 3 -100 66.0 620|F16 F4 2¢vO+1 A -140 63.0 65.0
D8 D11 24 N-1 ¢ -50 39.0 89.0(F17 F6 3NS-1 #7 -100 66.0 620|116 17 3vO= ¢A -140 63.0 65.0
D9 D7 1lvy N-1 ¢J -50 39.0 89.0(G17 G2 3NS-1 &5 -100 66.0 620|F17 F7 2vO+1 ¢A -140 63.0 65.0
E9 E11 INS-1 -50 39.0 89.0|H17 H1 3NN-1 48 -100 66.0 62.0|G18 G3 3v O= ¢K -140 63.0 65.0
F9 F8 2NS-1 +3 -50 39.0 89.0|F18 F1 3NN-1 2 -100 66.0 62.0|H18 H8 2v O+1 A -140 63.0 65.0
Cl10 C7 INS-1 +3 -50 39.0 89.0(G19 G3 2NS-1 &5 -100 66.0 62.0|H19 H12 2v O+1 «A -140 63.0 65.0
E14 E10 2v N-1 -50 39.0 89.0(H19 H11 3NS-1 3 -100 66.0 62.0|G20 G4 3v O= &3 -140 63.0 65.0
H15 H9 2vy N-1  ¢J -50 39.0 89.0(H20 H2 3NN-1 T -100 66.0 62.0(H20 H3 3v O= ¢A -140 63.0 65.0
F16 F3 INS-1 +4 -50 39.0 89.0|G22 G10 3NN-1 3 -100 66.0 620| 19 I5 INV+2 6 -150 30.0 98.0
F18 F1 INS-1 +3 -50 39.0 89.0( A1 A4 3v N-2 -200 20.0 108.0| B3 B10 3y O+1 +A -170 21.0 107.0
H18 H7 2N S-1 +3 -50 39.0 89.0| C3 C2 3NN-2 7 -200 20.01080| G9 G19 3vO+1 A -170 21.0 107.0
H19 H11 INS-1 +3 -50 39.0 89.0( F5 F14 3NS-2 &5 -200 20.0 108.0|G10 G21 2v O+2 ¢A -170 21.0 107.0
G22 G10 24 N-1  +J -50 39.0 89.0| G7 G16 3NDS-1 «J -200 20.0 108.0 [H13 H11l 2v O +2 #J -170 21.0 107.0
F5 F14 INS-2 ¢3 -100 13.0 115.0| B8 B2 2NS-2 aJ -200 20.0 108.0 |F12 F15 3v O+1 ¢A -170 21.0 107.0
C6 C8 24S-2 vJ -100 13.0 115.0(C10 C7 3NS-2 #7 -200 20.0 108.0 |[E14 E11 3v O +1 -170 21.0 107.0
G6 G14 3NDN-1 ¢J -100 13.0 115.0 |F11 F15 3NN-2 5 -200 20.0 108.0(F14 F6 3v O+1 4A -170 21.0 107.0
A9 All 2NS-2 -100 13.0 115.0 |H13 H10 3NN-2 &5 -200 20.0 108.0( 115 114 3v O+1 ¢A -170 21.0 107.0
F11 F15 2N S-2 vJ -100 13.0 115.0 |E14 E10 3NN-2 -200 20.0 108.0| A8 Al4 34 S-2 -200 11.0 117.0
115 114 INS-2 45 -100 13.0 115.0| D3 D10 3NN-3 &A -300 6.0 122.0| B8 B2 34 S-2 5 -200 11.0 117.0
H17 H1l 34 N-2 ¢J -100 13.0 115.0| H3 H14 4vy N-3 &A -300 6.0 122.0 (D12 D5 INDV+l1 49 -280 8.0 120.0
H20 H2 3vy N-2 ¢J -100 13.0 115.0| F4 F12 3NS-3 EN) -300 6.0 122.0( 13 111 44 S-3 &A -300 5.0 123.0
D6 D4 3NS-3 +3 -150 2.0 126.0| C6 C8 3NS-3 &3  -300 6.0 122.0|H16 H6 34 S-3 +9  -300 5.0 123.0
F13 F10 3N S-3 +3 -150 2.0 126.0( D9 D7 14 S-3 &J -300 6.0 122.0(G22 G5 4y O= ¢A  -420 2.0 126.0
G17 G2 3NS-3 ¢4  -150 2.0 126.0( A2 A3 3NDS-2 -500 0.0 128.0| D9 D7 34DS-3 ¥v5 -800 0.0 128.0
- G15 37.0 - G15 37.0 - Gl4 82.8
C5 - 76.0 C5 - 76.0 C5 - 76.0
- B7 61.3 - B7 61.3 - B7 61.3
Al6 - 66.0 Al6 - 66.0 - Al12 55.1
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Basta kontrakt

2 S =90

& ¢ v & NT
N86 577
S86 577
04756 3
V475863

Res Poang
1400 128.0 0.0
500 125.0 3.0
500 125.0 3.0
460 122.0 6.0
400 118.0 10.0
400 118.0 10.0
400 118.0 10.0
300 111.0 17.0
300 111.0 17.0
300 111.0 17.0
300 111.0 17.0
200 100.0 28.0
200 100.0 28.0
200 100.0 28.0
200 100.0 28.0
200 100.0 28.0
200 100.0 28.0
200 100.0 28.0
180 91.0 37.0
180 91.0 37.0
150 88.0 40.0
130 86.0 42.0
120 81.0 47.0
120 81.0 47.0
120 81.0 47.0
120 81.0 47.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
110 61.0 67.0
100 38.0 90.0
100 38.0 90.0
100 38.0 90.0
100 38.0 90.0
100 38.0 90.0
100 38.0 90.0
100 38.0 90.0
90 30.0 98.0
-50 21.0 107.0
-50 21.0 107.0
-50 21.0 107.0
-50 21.0 107.
-50 21.0 107.0
-50 21.0 107.0
-50 21.0 107.0
-50 21.0 107.0
-100 8.0 120.0
-100 8.0 120.0
-100 8.0 120.0
-100 8.0 120.0
-100 8.0 120.0
-110 2.0 126.0
-150 0.0 128.0
82.8

63.2

62.3
55.1

23 41032
Syd v 1065
Alla + D1063
&654
«EDKNn75 486
vE93 v DKn842
¢+ EK4 +8
33 &#KDKn92
4 K94
v K7
¢ Kn9752
#E107
Par Kontr Ut
E1 E10 3NV -3
17 19 3NV-2 +3
F17 F8 3NV-2 +6
G2 G15 2NO-1 +¢5
F9 F4 3NV-1 *2
F11 F10 3NO-1 7
D9 D8 34 V= +3
F18 F3 14 V+2 46
11 115 2NV +1 3
A3 A6 1le V+3
H20 H4 34 V+1 ¢Q
H9 H18 2NV +2 43
B2 B5 24 V+3 v5
Gl1 G22 34 V+2 +3
E14 E12 14 V +4
G3 G17 3NO= +5
B6 B7 3NV= +3
A9 Al5 3NO=
G9 G18 3NO= &7
Cl10 C8 3NV= +3
F12 F13 3NO= *2
Bl B3 4v O= +5
110 16 4v O= +5
B4 B10 3BNO+1 7
D1 D11 4v O+1 ¢2
C2 C5 4v O+l ¢5
12 114 49 O+1 7
D3 D2 4v O+1 +¢2
E3 E8 4v V+1
C4 C3 49v O+1 +5
D4 D10 5v V= *7
14 112 4v V+1 a2
F5 F16 4v O+1 &A
H5 H14 4v O+1 +9
C6 Cl 4vV+l ¢Q
D6 D12 4y O+1 +¢9
G6 G12 4v O+1 45
H6 H8 5v V= T
A7 A2 4v O+1
D7 D5 5v O= &A
H10 H2 44 V+1 v5
E11l E13 4y O +1
Al16 Al2 4y O +1
H17 H3 4v O+1 ¢5
G19 G4 4v O+1 +¢5
H19 H1l 4v O+1 7
A4 A5 3NV +2
G7 G14 3NV +2 3
G8 G16 3NO+2 &T
111 15 BNO+2 &7
F14 F7 3NO+2 ¢2
Al A8 4v O +2
E4 E7 4v O+2
ES E6 4v O +2
G10 G20 4y O+2 +¢2
H12 H13 4y O+2 &A
113 I3 4y O+2 7
F15 F1 4v O+2 ¢2
H15 H11 5v O+1 +¢9
G21 G5 4y O+2 7
F6 F2 3NO+3 ¢7
H7 H16 3NV +3 46
E9 E2 3NO+3
116 18 3NV+3 «T
All A13 6y O=
C7 -
- B8
- Al4
G13 -

Basta kontrakt

6NT V =-1440
& ¢ v & NT

N14111

S14121
O 129 121112
VvV 129 121112

Res Poang
300 128.0 0.0
200 125.0 3.0
200 125.0 3.0
100 120.0 8.0
100 120.0 8.0
100 120.0 8.0
-140 115.0 13.0
-140 115.0 13.0
-150 112.0 16.0
-170 109.0 19.0
-170 109.0 19.0
-180 106.0 22.0
-200 102.0 26.0
-200 102.0 26.0
-200 102.0 26.0
-600 93.0 35.0
-600 93.0 35.0
-600 93.0 35.0
-600 93.0 35.0
-600 93.0 35.0
-600 93.0 35.0
-620 85.0 43.0
-620 85.0 43.0
-630 82.0 46.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-650 59.0 69.0
-660 32.0 96.0
-660 32.0 96.0
-660 32.0 96.0
-660 32.0 96.0
-660 32.0 96.0
-680 18.0 110.0
-680 18.0 110.0
-680 18.0 110.0
-680 18.0 110.0
-680 18.0 110.0
-680 18.0 110.0
-680 18.0 110.0
-680 18.0 110.0
-680 18.0 110.0
-690 5.0 123.0
-690 5.0 123.0
-690 5.0 123.0
-690 5.0 123.0
-1430 0.0 128.0

63.2
62.3
56.0
70.3

24 & Kn53
Vast v 862
Ingen + KKn8
#K953
« K10 « ED94
v 107 v DKn43
¢ E9765 ¢ D10
#Kn762 #E104
#8762
v EK95
4432
«D8
Par Kontr Ut
G3 G17 3¢ O-2 #Q
H19 H1l 3NO-2 8
G21 G5 3#0-2 ©vA
B2 B5 INV-1 &5
A3 A6 2NO-1
17 19 24 O-1 2
G8 G16 INO-1 a7
110 16 INO-1 5
All A13 2+ O-1
F12 F13 2NO-1 48
H12 H13 3NO-1 ¥5
113 13 2NO-1 +A
F18 F3 2NO-1 YA
Bl B3 INO= a5
D1 D11 2¢ V= 3
B4 B10 INO= a5
F15 F1 INO= 46
G2 G15 24 N-2 #4
Al A8 INO+1
1 115 INV+1 43
D3 D2 INO+1 48
C4 C3 INO+1 ©vA
D4 D10 2N O = 46
4 112 INO+1 ©vA
E5 E6 INO+1
F5 F16 2N O = 48
H5 H14 INO+1 5
B6 B7 INO+l1 48
C6 Cl1 INO+1 vK
F6 F2 INO+1l 46
G7 G14 INO+1 ¥5
H7 H16 INO+1 vA
F9 F4 INO+1 ¥vA
H10 H2 2NO= 8
111 15 INO+1 9
F14 F7 INO+1 5
Al6 Al2 INO+1
E1 E10 3¢ V+1
G6 G12 INO+2 ¥vA
H6 H8 INO+2 6
A7 A2 2N O +1
D9 D8 2NO+1 vA
E9 E2 INO+2
H9 H18 INO+2 ¥vA
G10 G20 2NO+1 vA
F11 F10 2NO+1 ¥vA
E14 E12 2N O +1
116 18 INO+2 48
F17 F8 2NO+1 ¢2
G19 G4 INO+2 vK
H20 H4 INO+2 ©vA
C2 C5 INO+3 &7
2 114 2NO+2 vA
A4 A5 2NV +2
D7 D5 INV+3 3
A9 Al15 1IN O +3
G9 G18 2N O +2 vA
E11 E13 INO +3
G1l1 G22 2NO+2 +¢2
H17 H3 INO+3 ¥vA
C10 C8 3NV= a5
H15 H11 3NO= vK
E3 E8 3NO+1
E4 E7 3NO+1
D6 D12 3NO+1 ¢K
Cc7 -
- B8
- Al4
G13 -

Basta kontrakt

2NTV =-120
& ¢ v & NT
N545 44
S53544

O8 88 8 8

V 8 8 8 8 8

Res Poang
100 126.0 2.0
100 126.0 2.0
100 126.0 2.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
50 113.0 15.0
-90 99.0 29.0
90 99.0 29.0
90 99.0 29.0
-90 99.0 29.0
-100 94.0 34.0
-120 740 54.0
-120 740 54.0
-120 74.0 54.0
-120 740 54.0
-120 740 54.0
-120 74.0 54.0
-120 740 54.0
-120 740 54.0
-120 74.0 54.0
-120 740 54.0
-120 740 54.0
-120 74.0 54.0
-120 740 54.0
-120 740 54.0
-120 74.0 54.0
-120 740 54.0
-120 740 54.0
-120 74.0 54.0
-120 740 54.0
-130 54.0 74.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-150 40.0 88.0
-180 18.0 110.0
-180 18.0 110.0
-180 18.0 110.0
-180 18.0 110.0
-180 18.0 110.0
-180 18.0 110.0
-180 18.0 110.0
-180 18.0 110.0
-180 18.0 110.0
-400 7.0 121.0
-400 7.0 121.0
-430 2.0 126.0
-430 2.0 126.0
-430 2.0 126.0

63.2
62.3
56.0
70.3
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